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B.A (Hons), Sem-1

CBCS, Core Paper

Introductory Microeconomics

UPC: 12271101

Instructions for Candidates

1.  Answer any 4 questions.
2. All questions carry equal marks.

3. Answers may be written either in English or in Hindi, but the same medium should be
used throughout the paper.

wanfiat & foo fader

1. Tl IR URaAT & 3T oY |

2. T3 UAl & 3 AW ¢ |

3. 9eeT @ 3R Y 3ryar ISl AreyH & foer S Hehl & Weg Ty gl &
3T Teh g ATETH H g1 a1fgv |

Q1. (a) Anincrease in the minimum wage will increase the rate of teenage unemployment. Is
this a positive or a normative statement? Explain.

(b) Why does a trade-off arise between incentive and equality?

(c) Explain why the production possibility curve is concave to the origin. What would be the
shape of PPC if the opportunity cost of commodity Y in terms of commodity X is constant?

a) “gAdH Holql H Jef ¥ fraR ey dr e & Jefr gefrl I s
PRIcHS HUT § IT Teh JTHIOIS HUT ? SITEAT |

b) WG JUT AT & a1 Ush REW  SIUR 3cUesl FAT BIAT &7

c) AT F & IculeT HHGe ash Hel &g T RE Acdlel FT g §7?
3cqTes] gHTTAT doh Eﬁrﬂrajﬁrwaﬁ?ﬁaﬁaﬁrxa?ﬂaﬁﬁaﬁvaﬁr
TR T TR &




Q2. (a) Define dead weight loss of a tax. How do the elasticities of supply and demand affect
the deadweight loss of a tax?

(b) Market demand function is given by

Qd =180-2P

Market supply function is given by

Qs=-15+P
Determine producer surplus, consumer surplus and total economic surplus at the equilibrium
price. Calculate the DWL that would result from a price floor imposed at a level of 72.

a) &Y P FI-HR gl T IR HY| el AT AW T AT T AT FA-HR
gifel 1 fohd Jeh JeATidc shic g?

b) SIS HET ol 38 YhR §
Qd = 180 — 2P

doR qfd telel 38 YR §
Qs=-15+P

HJelol HHAT W Scuresh AT, STHIFAT HAAY FUT For 3R AT fyefiRe
HITGTA| T T HJ-HR g AT 0T H S fh 72 & TR W @MU 0 HAe=Tq#d
AT F 3cTesT gHam|

Q3. (a) Use indifference curve to show how an individual decides to allocate his/her time
between work and leisure. Will he/ she necessarily work more if the wage rate rises?

(b) Suppose that the government imposes a binding price floor in the wheat market. What
would be the effect of this policy on the quantity of wheat bought and sold? Would the total
revenue of the farmers increase or decrease? Explain.

(c) Qd = 90 — 6P
Qs=-20+4P
What is the elasticity of demand and elasticity of supply at the equilibrium price.

a) 3CTHIdT dsh T 3YTET I8 &A= & forw Y foF P cafed w7 Jar raerer
& o AT FAY hE YR AT T g1 e Asigl X §¢ Sl &, oY
FAT 9§ OIS ®F J 3 F1F FHEm?

b) I NAT fF WHR A TR A Th SEAFN AFATH Hed e &
gl dAr 99 ¢ Ag B AET W A AT F FAT GHIG IS fRATAT T

Fol TS ¢ AT TSI SATEAT HX |

c) Qd=90-6P
Qs=-20+4P
HcJolel AT I AT AT Gl T ofrer 21 gref?




Q4. (a) Why do firms enter an industry when they know that in the long run economic profit
will be Zero? Under what conditions will a firm exit a market? Explain.

(b) Using the concept of economies and diseconomies of scale, explain the shape of a firm’s
long run average cost curve. How are the short run average cost curve related with the long
run average curve?

(c) For the following cost function TC = a + bQ — cQ? + dQ3, determine the equations for TFC,
TVC, AFC, AVC, AC, MC. a,b,c,d> 0.

a) BA frdl 3cTNT A FIT 99U HAr § Fafh 3¢ Iar g & fF e A
3Meh omeT e g fohel aRTEUfAAT & &S A SR & a1eY HAepelair?

STEAT |
b)WﬁWHﬂTW@fWWWW@,WW&%
SrderTelleT 3T J9Td d%h & TR ST SATEAT HY| NeUdTeld ad orerd

gsh, artaTelel 3Ed aed a% & fF9 yeR gafaa &2
¢) AT Bl TC=a+bQ-cQ2+dQ3 & TIT TEC, TVC, AFC, AVC, AC, MC
F'I'I?faw_i'?lﬁa,b,c,d>0.

Q5. (a) Define price discrimination. Can perfect price discrimination remove the dead weight
loss associated with a monopoly?

(b) How does a monopolist’s quantity of output compare to the quantity of output that
maximizes total surplus?

(c) Calculate the dead weight loss of a monopoly with a demand curve, P = 12 — Q and the
marginal cost curve, MC = 2Q, where P is the per unit price and Q is the quantity.

a) ®IAd fagie @ aRMNT | Far o HiAd [ TR & SE Fdaem
gTfeT T g X Hehel &2

b) Teh THIUSRT IcUles T AT, Fel HAAT &I AfAKATH el dTel Icureed
hr AT & g JhR Jelell T &7

c) Ush HET dsh P=12-Q IUT WA dFEd d% MC=2Q% YT THIUHR &
HAI-AR gl & 10T Y, ST P 9fd s$ foAT aar QAT Bl

Q6. (a)An increase in the retirement age of workers leads to increase in the supply of labour.
Discuss its impact on the Equilibrium wage rate, Employment and Value of marginal product
of labour (VMP,).

(b) Derive the long run supply curve of a decreasing cost perfectly competitive industry.

(c) The firm’s production function is as follows:

Unit of | 1 2 3 4 5 6 7 8 9
labour




Unit of | 20 40 56 68 78 86 92 96 96
output

a. Calculate the marginal product for each additional worker.

b. Each T-shirt sells for $5. Calculate the value of the marginal product of each worker.
c. Suppose the wage rate is $50, how many labour the firm will hire?

d. What happens to this demand curve if the price of a T-shirt falls from $5 to $4?

a) A&l & YaTAgia S 3T & et T #7 & MY H oo gicll g1 SqepT
Aol HYl &, ASHIR 3R WATT 3cde & Hed (VMP) T IsaT dlel F8TT
T TET |

b) T AT atell quiafaett T & drewmeler qfict T @efd i

c) ®H & 3clea Belel HAFIIAR 8

Unitof | 1 2 3 4 5 6 7 8 9
labour
Unit of | 20 40 56 68 78 86 92 96 96
output

a) A% aRed sfAe & v g 3care i aoEr Hi

b) Icdeh &€ $5 W T A Bl YA #fAF & WAT 3cUG & Hed H
IOTAT |

¢) A NAT 6 FAIgl &I & $50 &, o A fohcdal AfAH &I A W @i

d) Ifg E-q¢ Fr HAT $5 T $4 I PR AT dr 59 AR Toh W FAT AT
g3aTT?
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Instructions for Candidates

1.  Answer any 4 questions.
2. All questions carry equal marks.

3. Answers may be written either in English or in Hindi, but the same medium should be used
throughout the paper.

gfenfiat & e &

1. TPl IR U=l & 3R GIoTY |
2. 3T U=l & 3k AW ¢ |
3. 92T @l o) fEEr 3ryar e Aregs & for S Hehdl & e Tl 9eal 7 3R

Teh 81 ATEIHA H el dMMg0 |

Q. 1. a) Discuss the central problems of an economy in the context of scarcity and decision

making.

b) How does an increase in the price of sugar affect the equilibrium quantity and price of

coffee? lllustrate using adiagram.

c) Suppose the government imposed a price floor on the rental price of labor higher than

equilibrium price. How does this affect the market for labor?

a) TohdT 3riegaeyr &I goletar aUT A0 ol & Fead # doald FHEIT W
|



b) el &I HIAT H i PR T Hlolel HIHAT TAT AT A hE ThR Fenfad
Hdr &2 T Fr TEEar I gHS
c) & AT & TWHR & 47 F A B AT W dJolel AT § 311

HAT T [FTHI0T TIR—T &1 Tg HH & IRl g TR THATST T g7

Q.2 a) Qd = 180 - 2P

Qs=-15+P
If a tax of Rs 2/unit is imposed on sellers, calculate the effect on the price paid by buyers
and price received by sellers. Demonstrate that the effect would be unchanged if the tax

had been imposed on buyers instead of sellers.

b) Suppose a technological advance reduces the cost of making mobiles. Use a supply and
demand diagram to show what happens to consumer surplus and producer surplus in the

market for mobiles.

c) The individual’s supply curve of labour is backward bending, however the market supply

curve of labour is always upward sloping to the right. Do you agree? Explain.

a) Qd=180-2P
Qs=-15+P

Ife; fasharstt W 2 T9F 9fd S HT I AT JTCT g, A o3 GaRT

AT T 15 PAT TAT fIHAT3N SaRT IIed HIAT T Yea A I0TAT FI |
efia ¥ 6 Ife RAshar & I $anitt I T ST 347 gar ar sqhT
9T IaRafdd g



b) HIT NfAT fF Tk dereliehl gorfad AEISS delll T oI A HA S &1 gt
JUT HART 3RY HT 39T b Tg @0 foh AGS 9k & 3T8iadr
HEAY 3R Icurger HTUAY G FAT JHTT G912

¢) HH F IFIT qfd Ik qS HT 3R T I 81T §, BTelifeh 4F AR
qich @k M &8 3N W AT 3R GIAT &1 FIT 3T AT &7 AT Y|

Q.3 a) Usingthe ordinal approach explain the concept of consumer’s equilibrium. Suppose the
price of commodity Y rises and the income elasticity of commodity Y is negative. lllustrate the
effect on consumer’s equilibrium using appropriate diagrams(take good X on the horizontal axis

and good Yon thevertical axis).

b) Give an example of an opportunity cost that an accountant might not count as a cost. Why

would the accountant ignore this cost?

a) ShHAATAH TTCCHIVT FT 3UANT Fh 3UHIFAT & Helel I HTLUROT
TASATSY | AT of & a8 Y& HAT F¢ Sl § I a& YH 3 ol
APRIcHS §| 3TGFd 3NTT HT IYANT Fh 3YHFAT & HJolel T YT T

eRid| (a&d X r &AST 3787 W TUT I&J ¥ AT FEaATeR 3767 W o) |

b) T HFET TIRTd FT Teh 3GIEIUT ¢ ol Teh oIW@IhR oIRTd & &9 H gl fereddr

g JWHR 54 P I 3I¢@r FAT hidm?

Q .4 a) Explain why in the short run, the equilibrium price of the perfectly competitive firm is
equal to marginal cost andin the long run, equilibrium price is equal to marginal cost as well as

average cost of the firm.



b) lllustrate diagrammatically the profit maximizing condition of a monopolist. Does the
monopolist always earn supernormal economic profits in the short run? Explain using an

appropriate diagram.

a) =T H F reuraf® &, qut gfaaelt o i dqes Faa A e &
S FT BN §, AT bl A AN AT WA AT & QY- A
&1 3T deTT & SE] gl g

b) U THITAHRT Fr o ftraediavor $ Fufa 1 Rfya w11 Fa1 wafgsir
eUTafy § T IMHAY 3Tk W8T HAT §? Ueh 3Ugad IR HT 3TANT

Feh THST|

Q. 5. a) Briefly discuss the necessary conditions for price discrimination. What do you

understand by the term ‘perfect price discrimination’?

b) Show that the value of marginal product of labor is also the demand for labor. What are the

factors that affect the demand for labor?

a) 1A a8 & AT maeas odl w d@el9 & T=t Y| qoT AT AT
T 39 FT gHSTT &2

b) G2 & HH 1 AT 3cUIG T Hed A H AT 8 g1 I FHiT T FRE § N
HH I AT HI FATIT I 82

Q .6 a) Use a production possibility frontier to describe the idea of efficiency.

b) What is the deadweight loss of a tax? What are the determinants of the deadweight loss

from a tax?



c) The demand for apple orchard workers is given by the equation W = 80 - 3 Q and the supply
is given by W =30 + 2 Q where W is the daily wage rate and Q is the quantity of port workers.

Calculate the elasticity of demand and elasticity of supply of labor at the equilibrium W.

a) 3cUIe THTTAT deh T JeIdT & &8TdT & AR &7 guld |

b) & H ATAR gIfel &A1 §? N H HINR g1l & AeURF dea =it ¥ 82

) AT & FET HTHBT HT AT FHGOT W =80-3Q aRT & 5 § aar it
W=30+2Q GaRT & g § 8T W &feleh HAIqll &X § 991 Q 9iE it &

AT §1 HJolel &feteh FolGd X W O S T #AET TAT Gfcd & ofrer i Ior]
|
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Instructions for the candidates:

1. Answers may be written either in English or Hindi; but same medium should be used
throughout the paper.

2. There are six questions in all. Attempt any four.

3. All parts of a question must be answered together.

4. All questions carry equal marks.

5

. Use of simple calculator is allowed.

1. TR SISl a1 fg<t ¥ f3U o1 9hd € IRg X UWR & U &1 T &1 SudNT fam S =gl

2. SHUY-UTH B: Uy g fhgl ar s & IR SISl
3. TP Uy & JH UM & IR T Y feu o= =iyl

4. g Ui & R 3 g

5. YR Hapaic? S Y4 7 g

QUESTION 1

A) Let f(x) = |2x — 6]
i) Graph f(x).
i) Comment on the continuity and differentiability of the function
iii) Does the inverse of f(x) exist?
Iv) Suppose the domain of the function is restricted.
a) Will f(x) have an inverse if x € (-0, 3]?

b) Will f(x) have an inverse if X € [5, ©0)?



B) Given f(x) = Jex e tver T

) = P21 )
show that f'(x) = TR

C) Givensets A, B, C, prove or disprove: A\(B\C) = (A\B)\C

(12, 4, 2.75)
QUESTION 2
A)
1) Find the Domain of the following functions:
) )= oam

b) gx) = Vx +V3—x+ Vx2 —4x

i) Find the Range of the following functions:

x2
1+x2

b) k(x) =4 +2¥ 444 2743

B) The value V(t) of crop increases over time according to the following function:

a)  h(x) =

V(t) = 10eVt
Assuming that there are no upkeep costs and the discount rate is 5% per annum, find optimal time

t* to cut the crop such that the present value is maximized.

C) Given f(x) = log (+=) . Find f (=),
D) Given f(x) = (x —a)® + (x — b)3 + (x — ¢)3. What would be the number of real roots of the

equation?
9,5, 2,2.75)

QUESTION 3
A) Consider a firm that has a cubic cost function:
C(Q)=aQ®+bQ?*+cQ +d

Suppose it has positive fixed costs. Also, suppose that cost function is ever-increasing. In the
beginning costs increase rapidly, but the rate of increase slows down as production equipment is
used for a higher proportion of each working week. However, at high levels of production, costs

again increase at a fast rate.



(i) Find C'(Q) and C"(Q)
(if) Using the answer in part (i) above, discuss the restrictions required on coefficients

a, b, c and d for the cost function to exhibit the given behavior. Also discuss why the condition

3ac > b? needs to be met?

B) Given h(x) = x* — 4x3 + 6x% — 4x + 1. Find maxima, minima and inflection points of the

function, as applicable.

C) Prove the total expenditure method of measuring the price elasticity of demand, which says that if
total expenditure on a good increase with a fall in price then price elasticity of demand is greater
than unity and if total expenditure on a good decrease with a fall in price then price elasticity of

demand is less than unity.
(8,7,3.75)
QUESTION 4

A) Given f(x) = |x — 5] + 2. Check whether f(x) is concave or convex?

B) Find out the region where the following function is increasing and where it is decreasing:

hx) = | x|
1+ |x|

1+x2

C) Find the asymptotes for f(x) = »

D) If 100x percent, compounded annually and 100y percent, compounded continuously are equivalent
interest rates, show that y = In (1 + x). illustrate graphically that y is always smaller than x but
approximately equal to x when x is small.

(5, 5, 3, 5.75)
QUESTION 5

A) Determine the market price, P, in any time period, the equilibrium price and the stability of time
path:
Q4 = 260 — 0.5P,
Qs = 20+ 0.3P,_,
Initial price, P, = 250

B) Find the area of the region between the curve y = x? — 6x + 5;0 < x < 7 and the x — axis.

Graph the curve showing the shaded region.
(9, 9.75)



QUESTION 6

A) Solve the difference equation:
5x; —4x,, —10=0 ;X = 15
1) Find out the steady state.
i) Check the answerusingt =0andt = 1.
iii) Sketch a graph of x; and comment on the time path.
B) Suppose the marginal revenue of a good is given as:
MR =55 —4Q
Total Cost, TC is given as:
TC =100 — 7Q + Q2
i) Find the total revenue function and the demand function, P(Q).
i) Find out the equilibrium quantity, price and profits of the firm.

QUESTION 1

A) T AT S f(x) = |2x - 6|
i) ) DT IHRG TISU
i) 39 Had & Uidd d ahaqiad iR femuf sifsa|
iii) & f(x) P UfaaT B o1 3 82
iv) AT ST f e o1 IR Hifd g
a) FTHA fx) 1 U UfAaH e gRT A x € (-0, 317
b) T WA fx) BT U Ufdad e g1 AfS x e [5, 0)?

B) faargene i r(x) = Je"+ eX +eX + -
?-h’a‘qﬁs‘qﬁ;f/(x) — fz(x)_f(x).

2f(x)-1

C) dH IH= A, B, C RU gU g dl g SIS a1 WueH Sifoi f&: A\(B\C) = (A\B) \ C

QUESTION 2

A)

)y Fafited Bl & RN I BT

(9, 9.75)

(12, 4, 2.75)



a) f(x) = x2+2;x+2

b) gx) = Vx +V3—x+ Vx2 — 4x

iy Fafaied wanl & uReR I I
a ()=
b)  k(x) =4%+2¥+47F+ 277 +3
B) U Budl o1 Hed V(¢) TH & 1Y FHufifad e & SIR sgdl &
V(t) = 10eVt

Ig T gU b 3! D13 [WRWIG AN 51 8 aUT e Bl &x 5% Ufd a9 §, A Bl Ple &I gFad
Y ¢ J1d Pifod fo IR 01 gadH Ramadt g SHfdmad gl

C) feaganR & f(x) = log (32), al £ (=) d HiforT|
D) fQag3Me fd F(x) = (x — @)® + (x — b)® + (x — ¢)° . §F THIDHRU & ARATAdD el DI AT FT
BRI

(9,5, 2,275)

QUESTION 3

A) T o R TR BT SrIsT g-Tds dNTd e Y UHR B

C(Q)=aQ®>+bQ*+cQ +d

T Y 3 STt fRR aTd 41 81 a8+t 0 <fifore fob g8 wem 9ed-agdH 81 UR™ H I8
ol ¥ F6dT § TR oi-oid ST SUER Bl HA-TIE & IR 3R 8 SUANT b1 ST g, a9-
I AT Bt gfg R il S St B 1 ST & IR TRl WR A1Td G doh ¥ dgdl 8

0 C'(@TC(Q) PIIE DI

(i) YT () & 370 IR B! TSI J UMD a, b, ¢ T d 5 3 SrA1S{ /vl &1 fdd=- Hifore i fas
e gRT SR afvld TdeR UG RId - g a0 & | 9 i faaem Sifor i ord 3ac > b2 &1
¥ BT Y 3MaP B2

B) fAATg3MB i h(x) = x* — 4x3 + 6x2 — 4x + 1. T W & IS, S 7 Af3-uRadH fag 3@
HIfog, S ft ArL gl



C) HIT ! BIHd Al o HIUF B pot oy fafe Bl Ricg, BT foreh 38R TS o] R $of o0 HiAd o
fiRTae & W1y FgdT & df HiTT B! BHd Al SBT3 A IS Sl § 99T afe 9% R $d a9 $iad o
fRTaC & |1y HH FIell & o 7l B A dld P18 I HH Bl 6|

(8,7,3.75)

QUESTION 4

A) FRATgang b £(x) = |x — 5| + 2. A HIT fb BT f£(x) 3Hadd g AT IAA?
B) 98 & J1d pifvoie g Fufafld we aga & 9uT 98l I8 3eHH &

heo) = | x|
1+ |x|

Q) fi) = L g sIafRial wid i

D) uﬁmgim,mﬁmmﬁémwm100yqﬁw,mam@$maqmwﬁ%,a‘r
TURYTB = /n (1 + %), 3G B FeTIdl & IUZY b ), THA + Y BN et §; |Reg o ¥ BIT Bhelt
g 1 T8 xS THTHT SRR gl g

(5,5, 3,5.75)
QUESTION 5

A) Tafafad gq fad 9Hamafy § S8R B P, o HiHd dUT 5 UY BT RIRIE J1d i
Qe = 260 — 0.5P,
Qse = 20 + 0.3P,_;

URMR® P4, P, = 250

B)d®h y = x2 — 6x+5;0 < x < 7 aUT x — 318 o HeT RYd &F BT &Fhd J1d BT | Sifchd &
DI TWd §T 39 I P! ARRAT BT
(9, 9.75)

QUESTION 6

A) Fafafed srar THiaRu &1 gd Pifo:
Sxe—4x,1—10=0 ;x5 =15
i fRR /a1 &I J1d BT
i) t=0dt=1 B GG Y U IR B! SIF DI/
iii) x, T AR FAZT qYT TG 9y R fewoft Hifvm|
B) M oM f Uer avq o1 WA IToRd FAUTER 3
MR = 55— 4Q



Fd AT FEER ©:
TC =100—7Q + Q2
i) o S Wl qUT TR HerH, P(Q) JTd SIfoTd |
i) ThH B e HET, HIAd 9 ATH J1d Difod |
(9, 9.75)
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Answer any four questions out of six . Attempt all the parts of a question. All

questions carry equal marks

1. (a) Compare and contrast between the bargaining theory and the efficiency theory
of wage determination.
(b) Derive the aggregate supply equation from the wage setting and price setting
relations. Draw an aggregate supply curve and explain the following two properties
of the curve:
(1) Aggregate supply curve passes through a point where Y = Y, and P = P®. where
P¢is expected price level and Y. is natural level of output.
(i1) An increase in the expected price level P¢ shifts the aggregate supply curve up

and a decrease in the expected price level shifts the aggregate supply curve down.

(c) Consider an economy that is in the medium run equilibrium. Examine the short
run and medium run impact of an increase in petroleum price on the level of output
and the rate of unemployment in this economy.

2. (a) Discuss the following with relevant diagrams in the context of an economy
with fixed price level:

(1) Monetary accommodation of fiscal expansion.



(i1) Investment subsidy.
(b) Discuss the adjustment of output, interest rate and price level in response to a
fiscal expansion in an AD-AS and IS-LM framework. Does the composition of the

aggregate output change as a result of this adjustment? Explain.

(c) (1) Distinguish between nominal rate of interest and real rate of interest.

(i1) Do you agree that the demand for money depends on the nominal rate of
interest, whereas; the demand for investment depends on the real rate of interest?
Answer with reason.

(i1) Discuss the Fisher effect.

3. (a) What is wage indexation? Show that wage indexation raises the impact of a
given deviation of unemployment rate from its natural rate on the inflation rate.

(b) Suppose an economy is characterised by the following equations:

Ut - Ue1 = -0.4(gyt-3%) Okun's law
T - 1 = - (U= 5%) Phillip's curve
Syt = Smt - Tt Aggregate demand

u, gy gm,t represent unemployment rate, growth of output, growth of money
supply and inflation rate respectively.

(1) What is the natural rate of unemployment for this economy ?

(11) Suppose that the unemployment rate is equal to the natural rate and the
inflation rate is 8%. What is the growth rate of output? What is the growth rate of
money supply?

(c) Explain the basic idea of adaptive expectation hypothesis. Explain how this

hypothesis is based on a flawed premise of model-inconsistency.



4.(a) What were the reasons for the breakdown of the Phillips curve relationship in
the seventies

.(b) Using the Aggregate Demand and the Lucas supply function show that any
predictable part of the money supply should have no effect on output, employment
or any other real variable in the economy.

(c) (1) Explain why errors of rational expectations are on average zero.

(111) What are the limitations of rational expectations?

5. (a) Suppose an economy is characterized by perfectly mobile capital, fixed price
level and fixed exchange rate. Discuss with the help of a diagram how an
expansionary fiscal policy will affect the level of output in this economy.

(b) Explain the concept of covered interest arbitrage by means of an example.
Discuss how the continuance of covered interest arbitrage affects the possibility of
net gain to the domestic investor.

(c) ) Discuss the asset market approach to the determination of exchange rate. Do
you believe that the asset market approach is a more realistic and satisfactory
version of the monetary approach to exchange rate determination? Explain.

6. (a) Consider an economy under fixed exchange rate system with flexible
domestic price level and fixed foreign price level. Suppose that the economy was
initially at full employment and also its balance of trade balanced. However, a
subsequent fall in exports has resulted in both unemployment and trade deficit for
it.

Using AD-AS framework, show how the economy may get rid of both the
problems automatically. Is this automatic adjustment process at all desirable?

Explain.



(b) Explain the meaning of real devaluation under the fixed exchange rate system.
What is the effect of a real devaluation on the international competitiveness of the
domestically produced goods? Suppose the domestic economy experiences inflation
above the rate of its trading partners; will it be prudent for it to still follow the fixed
exchange rate system? In this context, discuss the concept of a crawling peg

exchange rate policy.

(c) Discuss the concept of J-curve effect of devaluation.. Explain the reasons for
its occurrence.
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. a. The following information is given for an economy:

Money Supply (M/P) = 1600

Money Demand (M/P ¢) = 2Y-8,000i

Consumption: C =200 + 0.25 Y4, where Y4 1s Disposable income
Taxes (T) =200

Investment (I) = 150 +0.25Y -10001, where ‘1’ is the interest rate

Government Expenditure (G) = 250

(1). Derive the IS relation
(i1). Derive the LM relation
(i11). Solve for equilibrium real output and interest rate

(iv). Solve for equilibrium values of C and I



(v). Now suppose that the real money supply increases to M/P= 1840. Solve for Y,i,
C,I and describe the effects of an expansionary monetary policy in words.

(vi). Set M/P equal to its initial value of 1600. Now suppose that government
spending increases to G =400. Summarize the effects of an expansionary fiscal
policyon Y, 1, and C.

(b) Suppose that the government undertakes a balanced budget expansion in
spending. Government spending rises from G to G' and there is an accompanying
increase in tax rates so that at the initial level of output the budget remains balanced
(1)Show the effect on the AD schedule.

(11) Discuss the effect of the balanced budget policy on output and interest rates in
the Keynesian case.

(111) Discuss the effect in the Classical case.

2 (a) Assume that the economy starts at the natural level of output . Now suppose
there is an increase in the price of oil.

(1) In an AD-AS diagram, show what happens to output and price in the short run
and in the medium run

(i1) What happens to unemployment rate in the short run and the medium run.

Suppose that the Central Bank decides to respond immediately to the oil price rise.
It wants to prevent the unemployment rate rise in the short run after the oil price rise.
Assume that the Central Bank changes the money supply once, immediately after

the oil price rise and then does not change the money supply again.

(i11)) Show how the Central Bank's action, affects the AS-AD diagram in the short

run and in the medium run.

(iv) How would output and the price level in the short run and in the medium run
compare to your answers in part (1)?



(v) How do the short run and medium run unemployment rates compare to your
answers from part (i1)?

(b) Suppose that interest rate has no effect on investment.
(1) What does this imply for the slope of the IS curve?
(11) What does this imply for the slope of the LM curve?
(ii1)) What does this imply for the slope of the AD curve?

3 (a) Suppose that the economy can be described by the following three equations.

Ut - U1 = -0.4(gyt - 3%) Okun's law
T - M1 = - (U - 5%) Phillip's curve
gyt = Zmt - Mt Aggregate demand

u,m,gy,gm represent unemployment rate, inflation rate, output growth and nominal

money growth respectively.

(1) What is the natural rate of unemployment for this economy ?

(11) Suppose that the unemployment rate is equal to the natural rate and the inflation
rate 1s 8%. What is the growth rate of output? What is the growth rate of money
supply?

(i11) Suppose that conditions are as in (ii), when, in year t, the authorities use
monetary policy to reduce inflation rate to 4%. in year t and keep it there.Given this
inflation rate, calculate the unemployment rate, growth of output and the rate of
nominal money growth for years t, t+1 using the above three equations.

(b) Discuss the following statements-

(1) The Phillips curve implies that when unemployment rate is high, inflation is low
and vice versa. Therefore, we may experience either high inflation or high

unemployment, but we will never experience both together.



(i1) As long as we do not mind having high inflation, we can achieve as low a level
of unemployment as we want. All we have to do is increase the demand for goods
and services by using expansionary fiscal policy.

(iii) The adaptive expectation hypothesis allows one to relate unobservable expected
variables to actual observable variables.

(iv) Rational expectations are the most accurate expectations

4(a) Explain how Modigliani constructs a statistically measurable form of the
consumption function using the Life Cycle hypothesis.
(b) Discuss with the help of a diagram how Friedman explains the short-run and

long-run consumption pattern with the help of permanent income hypothesis, .

(c) Explain the stagnation thesis. Was this found to be true empirically after World
War Il ?
5 (a) Explain with the help of diagrams., all three kinds of preferences an individual

might have and their corresponding equilibria in the portfolio balance approach.

(b) Explain from the above analysis how the aggregate money demand can be
impacted with increase in the level of uncertainty and secondly with an increase in
expected capital gains, when individuals diversify between bonds and money. Use

suitable diagrams.

(c) Suppose that the expected interest rate depends positively on current interest
rate. Explain the conditions under which an individual's money demand will look
the same as the case when expectations of interest rate are held with certainty in
the regressive expectations model.

6. (a) Explain the process of determination of equilibrium in the housing market in

the short run and long-run (in non-growing economy).



(b) What are the factors affecting the position of the housing demand curve? Explain
how the short run and long run equilibrium of the housing market change when there
is a change in these factors.?

(c) (1) What is the ‘q’ theory of investment?

(i1) Do you think that a high inventory sales ratio would always be a recessionary

signal? Discuss.



Set- 4t ap
UlC— 4207302
4, ACH) Elonomits - CBES- Gove -

m —
o fe/m(c{/a/c Hacr Eanoma-T .

bo=E) it mﬁﬁ‘lmmﬁmmﬁ};ﬁ; PP I T 2% A

1) % FTUaITET 3 s bk s} Qo £
A CHip)= ldeo ; SR NS (Hjpd) = 29 Faol
JUHII! €= In+to, AN, STRT Y4 DT 37T E J @R CT)=300
baR1 (1)= 10 o5 Y- lomi, B ' 07 R L1y alarn ()= 25

) TS UFT=q oz 2

U Lrt aFeFerar oA |

D, i TEdlad 2T AT OV T 0P 5 R

W) € d2r T B AT G0 B o 5 AL

(V) 2777 7T Jyﬁpdﬁdmﬁyﬁ gﬁ@r@ H//:}gl/o%fﬂg)f}.\/Jc AL 3
B 501 32 2 9] B Prarad) st b S e aradga] |

Wl hijp 3 <TI0 140 ez 28 | T NI 2 0 02T G
QI E1 Y 4w ¢ 17 heanas) agavby A8 5 PRI 3G Horad)

(b) 3 oD 5 ara oy Ty 3 B A a7 (S, ) 5 et oy 63y

GTEHT ¢ BIATT 5 2312 AT €[] 0T ey 35 37 iy DT L oty 207>
e g! /E\ OV'J_/Q%[ z cHl4 E’/T)'ﬁi?mf

O 80 337 9T D 23D

Q) St w1 73753 30 00T 7 @ gt ormig e T e et
Ay QTSI e 3 GHid! grrmh ) R

@) s by s 3T 3 ke s 7w DAY
q%ﬁgﬁ{gﬁ% < ‘%Q?’?ﬁ?’/%mmo%w&%‘

O BT AT ATt ORI 7T A7-F77 2y 72
Gy A0~ 1S RT3, StTadtar e s 3 ST Tt 7oty B0 5

St B S S O et I ST I T S b -
%W#%@%M%%m e ;ﬁf%%’ 2 i}gﬁ%ﬁ

= oo O , o7, I 5 : _‘ S
%ﬁg{f aéleéf‘{ 2 B 6 geid] | IR ol I HF a7y



di[’) %igﬁ@wﬁoﬂ%ﬁ WA JUT TG B{Hﬁ%ﬂs—;;@;ég%ﬁ 7.

(v) 9% 2m07¢i) 3’@3’7{2 H I T gy HTTH e T HEUFFET T 3T 2]
e T2 D o
\ K _ :
() 3 F 21 01) & 37320 Q1 H 20T ol 206 7 R el

(5) A 8} 671 72 7l Ser 72 96 iy &,
C?; T - bR a7 3 e 537 T 373 Ep
W) tn-a 7 Zali 3 bro o waam 3rF £y
W) po-az I ZallA 2 b0 gt kw1 g

9:Ca) FAMTD by srbarar Sirratobor Searfomst 2 b b e
b=ty =—0Y(3-37) == &
Me=Tly = — (Y-5%) Wﬂ@

e = o= 7% 2T, T
M/-ffy/ Jm X 51\37514775937/ BT/ A ﬁg’ﬁ 2, %gﬁﬁgﬁ/ &—méq%a@yg i Q/(?f
~Fld 5

) &7 e ararur %%Woﬁ}/m Z3-0) &7
"0l < ol By aRmt) 27 £, o735 avany 5&?{7}09}45?8‘/}?7&%749
21 8¢ 71 il ol 72w &7
(lly It B B 3 61) % s &, sradt Y37 zrbimd) S Ay
BTN S ATTIA R BT Y, (o I KT o b € TT IR B £
QT 250 JTE AU T F 3T IAF T8 £ 41 Fr b [
%ﬁﬁ{{% NI 5, 2AATE, TT7 255 PRI T 8
f JreH o
) Mot bad it Gz <Far&ie
et g g ks o) 22 ks S, 3 b e
& JUT b Brodia &QT@@", EWW%E%W73W%EWQW3{WJ |
sy Eortem g anh 3o T QAT IPHT RS

) ST @ a3 T A B GRITH AT, Al o £ [ - 35
SRR LT S 29 &l ﬁmmmz%&W;ﬁWﬁ
HT FTI) HIF AT T D] T AT o g & ’




iy 8 v @
') FTFT HUH TereT b 31 2T VBT <72 7 ety 7y o7
R 3 AT HTT AT AW 27h) &) |

) o SR Aty ey S

Y.@a) ot R Fi ﬁﬁaﬁz@ W 7 Ty i it g B
<754 T ZTHI Fiod 77 o iy &1

) % Frs] i Ry 37 <t i3 7 21 Syt o) 3777 o o) avmey S
UAATHI o Ay me%ﬁ#fwj:ﬁm oy e s

(&) FLIAT iz AT aTEm T | FAT L BB 3z 3 a7 Frptaser @ 3
e qmT g ey ”

S@) b1 A arzman 3 s D THAD a5y B 21 ) T 7 s )
WabFae 3ih ﬁﬁ%ﬁﬁm@m‘%?@%ﬁﬁmmx

(b) yf=a RERGT %.@Woﬁ'%gﬁvﬁ@zﬁﬁﬁmdwﬁgr%cﬁwﬁvﬁm 7o
A R b7 27 W sl o 70 3 e e s 3 gt
21 01 SThdd BT 4G &1 30377 b751 557 30T I

&) AT BF ST 01T 33 ST o TT T2 7 ST Lﬂ%ﬂ@ﬁg/
T I G TR F ATE, [T B Bt ov it gz Hor okf) € Py
D T GHITH TFH AT It 3 o 7o o) 30 T £

§@) sieaet ot Bt 3 CSteargl) Fhazadt) srmrarin HITT 3
bRT2oT H B 31 TR |

(L) 2477 W@%Eﬂ?ﬂ%ﬁﬂgﬁdﬁﬁwmmgfcz 2 ('&\Qoﬂﬁ/b.
SYZAA &1 YR ST 1 TR T HTaAl] U7 Sty 2T 2 of7ar T

)iy o am - Ligra-Fa 2

Oy Fo17 4R AT & 95 2 37T S Bt s A T a7 54
?T]Jﬂ['ailgﬁr/.




Unique Paper Code : 12271301_0OC

Name of the Paper : Intermediate Microeconomics-|
Name of the Course : B.A.(H) Economics (CBCS)
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Duration : 3 hours

Maximum Marks : 75

Instructions for the Candidates:

Attempt any four questions.

All questions carry equal marks (18.75 marks each).

Note: Answers may be written either in English or in Hindi; but the same medium should be
used throughout the paper.

et ¥ g Fder:
gl A AT & gA Ao |
Tft v F ofF W g (18.75 ®)

Me: I st ar B et off wor § T gwd & dfew oft S0 #1 7reaw = e
1Y |

Q1l: (A) Assume a person has a utility function U(x,y) =(x)(y)Y2. Let initial endownment of
consumer be (w1,w2) =(10,10) and initial prices (p1,p2) =(2,2). Both the goods are normal. Then
price of good 2 changes from 2 to 1, so that (p1, p2’) =(2,1)

(i) Find out the initial optimum bundle. How much of commodity 2 does the consumer buy or
sell? What income level will make the consumer buy the initial bundle at new price?

(ii) Find out the new optimum consumption bundle. Also compute the substitution effect,
ordinary income effect, endownment income effect and total effect for commodity 2, of change
in p2. Does the consumer remain a buyer or seller? (4+7.25)

(B) (i) Compute elasticity of substitution for the given production functions. Explain briefly.
a) Q=F(K,L) = min {aK, BL}
b) Q=F(K,L) = aK + BL (1+1)

(ii) Compute contingent demand for labour and capital using Shephard’s Lemma for the
following cost functions:

a) C(v,w,q) = q(2v/B + 3w/a)



b) C(v,w,q) = q(v+ 2 (vw)Y2 + w) (2.5+3)

Q.1(A) 9= o T FRET =afh &1 STAEET ®E T U(x,y) =(x)(y)Y2 81 STHTRT it IS
s A (endowment) (wi,w2) =(10,10) 3T YTI9®F T (p1,p2) =(2,2) T | Il ATHTA
Fequ g1 T a=q 2 fiwag 28 18 o g, ™ (py, p2) =(2,1)

(i) TEFF SIFa d€of T 9AqT MG STFRRT F&q 2 F fohaar @dgar a1 s=ar g?
F o T 9 UTEE EATdl S &l A% hiHd 9 @I ?

(i) 7T AT @IT qSA qATd | AT B AG p H IRAGT AT g qd TEATIq
TATE, AT 3T TN, AT (endowment) ST 9T X a&q2 6 &0 T TA1F
Farsd | v ff F7 ITATRT @R A7 fAwar 99T @ar 8?2

(B) (i) iRT 7o Seutew werAr & forw wfawwmow & = v o wea wfem Ao
Ao |

a) Q=F(K,L) = min {aK, BL}

b) Q=F(K,L) = ak + BL

(i) Feforfag amd wet % U Shephard’s Lemma T ITIRT &6 A9 3T TSIl &
oo god |wnT i T A

a) C(v,w,q) = q(2v/B + 3w/a)

b) C(v,w,q) = q(v+2 (vw)Y2 +w)

Q2: Mala consumes 2 goods, good x and good y. Mala’s preferences for good x and y are
described by the following utility function: U(x,y) = min{4x,y} (where x and y are respective
amount of the goods that Mala consumes).

(A) Answer the following, supporting your answer with the help of suitable diagrams:

(i) Suppose Px=Rs.3 , Py= Rs.2, and Mala’s income , M=Rs. 110. Compute optimum choice for
good x and good y. Show your working.

(ii) Let Mala’s income change from M= Rs.110 to Rs.220, while the prices remain same. Plot the
Income Offer Curve and Engel curve for good x. What is the slope of this Engel Curve? (2+3)

(B) You are now asked to carry out a simple policy analysis. Assume that Mala’s income (M) is
Rs.110, Px=Rs. 3, Py=Rs. 2 as before. The policy maker is considering different tax structures and
offers Mala 2 options to choose one.

Option 1: Mala can pay quantity tax of Rs 0.4 per unit of good x purchased. No tax is levied on
goody.

Option 2: Mala can pay 25% of her income as tax.

(i) Compute the numerical value of utilities at optimum associated with the 2 policies. Which
policy would you advice Mala to choose. Justify.



(ii) Draw a graph to show how these 2 policy option will affect Mala’s budget constraint and the
optimum point in each case. (4.25+2)

(C) Derive and explain the relation between Marginal Revenue (MR) and price elasticity of
demand. On which portion of the demand curve will a monopolist operate? (3.5)

(D) A firm having long run cost function: C =F(Q)= Q3 — 300Q? +50 where Q is the amount of
output produced by the firm per period. Compute the firm’s Minimum Efficient Scale (MES) of
production, Break-even point, Shut Down Point, and Supply curve equation. (4)

Q.2 9T 2 FEQAT HT START FLAl g, 96q x MLy | a&q x A y & fow #@pemw it
TTataRaret w1 Awferfea ITiar wed gRT At AT T g U(xy) = min{dx,y)
(ST&T x T yaeg &t gafdq qrr g S A ITHET AT 2) |

(A) STIH @l AT FIEAT ¥ AIT IAT H GHAT Fq gu [RErEa w oaqsy

(i) 7T AT % Px = Rs.3, Py = Rs.2, 3T @TAT #T &M, M=110% g .a%q x 3T y &
o aqEe fAwer i ET @@ B ffE

(i) AT o @ T S M =110% & 120%F BT ST g, STETh widd RUT gl a€ x &
T s yEATE T ST USS 9% a9Ted | T U 9% KT A (slope) FAT FHIT?
(B) T MUHI UF O AId FHUU FxA % o0 Fgr qmar g 4= o & "rer &
AT (M) 110 79T g, Px =3 & Py =2% fax g | difa FAwiar Bfvys #x dw==mst «w
Tar #T T g T #rar & 2 fOwedl ® # UF F FAT FEA Al GIFHT A gl
T 1 AT @id T g x U WA TR 0.4 FOA Hl I H FHL W A FY
qEHdl gl a€q yIT &I FT Agl RMAT AT gl

fashed 2: ATAT (U1 ST FT 25% FT & ®T H LH Tl &l

(i) 2 AT & AT AAFA HGGE I ITARAIEN & HeITHE® qoF Hl TUET HE| ST
AT & A9 & fow g difa &t g 3 fg fice |

(i) 7z fGmw & g s ww a9 & 7 2 fifg fEdeT AT F a9e sEg Eiw
TIH HTAA § QLA (95 Hl vF TATET Hel

(C) Hrwig T (MR) 3T ANT &t fAHT = F H=9 Fag 7 TET Ud AT Fiord
| AT 9% & (6T 9T 9% UF USITEREErat F13 Hm?

(D) TF %Y *F ITH & HHT dF FAC AT FA9 C =F(Q)= Q3 — 300Q%2 +50 T: &I Q
gl @€ # wH FRT IAEd B HET Bl W®HOF SmEd 6 gAdH F9d
THT (MES),@w fa=g fa=g  (BEP), 3cated &= fdg  (Shut Down Point) 3T qfF @
qHTRTor T TUET o |

Q3: (A) In the context of inter-temporal choice, discussing all possible cases, diagrammatically

analyse the impact of a fall in interest rate for a person who is initially
(i) A borrower

(ii) A lender (2+43.25)



(B) An individual consumes 3 goods (x1,X2,x3) at respective prices (pi,p2,p3). His month wise
consumption amount of x; at prices p; in 3 different month is given in each row of the table
below:

X1 X2 X3 P1 P2 ps3
Month 1 6 5 4 3 2 5
Month 2 5 4 3 4 5 2
Month 3 7 2 3 2 1 3
Check if price and consumption data is consistent with:
(i) Weak axiom of Revealed preferences.
(ii)Strong axiom of Revealed preferences
State your reasoning for your answer. (6)

(C) A firm is in business of producing cars and has production function: Q =F(k,l) = k?I*> (where |
and k are measures of labor and capital input used to produce g unit of the good that are sold
at fixed price p per unit of the good. Costs per unit of (I,k) are (w,v).

(i) Does this production function exhibit IRS, DRS, or CRS?
(ii) Find firm’s unconditional demand for labour in short run when K is constant at 4 units

(iii) Find firm’s unconditional demand for labour and capital in the long run. (1+2+4.5)

Q.3(A) 3qT- TTHEF (inter-temporal) T8 F Hed ¥, ) gwrfag AmHSAl 9 I=T Fd
TU, AET ®T H T&F Ak & (o0 & ax # fmae & gama &1 Fgur fifsm s
I= ¥ &

(i) TF FSER g

(ii) TF ForETaT g

(B) % SRR TeTAd Hed (p1,p2,ps) TX 3 TEGAT (x1,%2,%s) FT ITANT FLAT 21 3 WL | py
FHAAT T x TEG AT IA0l Tgld I @ad Hl HAAT A & T qrernl 6 Jods Gih
CECUE ER

X1 X2 X3 P1 P2 P3
Month 1 6 5 4 3 2 5
Month 2 5 4 3 4 5 2
Month 3 7 2 3 2 1 3

S w2 & F7 fEa 67 mud & dAwe [REkiea F oaaeT 8
(i) srfee sfewf@a (axiom) whTfora a=raTt| (WARP)
(ii) FzoT ATATRT  (axiom) THTTAT a=dTd | (SARP)



JU IAC F 00 AT qH Lo |

(C) T#F FX IU9 ®H FHT IATET Fad Q =F(k,l) = k22g: (g 13T k=9 X R
Faer & 917 g, SEsr ST By 459 p WX 99 I AT a&q Al q THE F IATEA
FA % forw fRaT Smar @1 (), k) F U TR AT AR (w, v) 2

(i) T Jg SITeT FA9 IRS, DRS, AT CRS YafTq #d g2
(i) To KHFT A=T 4 THEA 9T BT B, AT 9w F fow wy fr fSEr od seusTee
AT F#1 ey |

(ifi) FEFTT H AT FT Gt & orw wH AT AT o "t M |

Q4: (A) Kuber has Rs 75 to spend on peanuts (x) and chocolates (y). Chocolate sells for Rs 5
each and peanuts for Rs 1 each. Draw the budget constraint. A new offer is that for every 5
units of chocolates purchased at a regular price of Rs 5 per unit of chocolate, Kuber receives
one free chocolate. Draw his new budget constraint in the same diagram, clearly indicating the
coordinates on the 2 axis of the intercepts. (3.75)

(B) Let the utility of a consumer be represented by U(x,y) = x +3y. Given Px, Py and M to denote
price of good X, good Y and Income. Find optimum consumption bundle and draw its graph for
each case

(i) If Px=1, Py=4, M=100
(ii) If Px =4, Py=1, M =150
(iii) If Px =2, Py=6, M =150 (2.5+2.5+2.5)

(C) Discuss and depict graphically the total effect of a rise in price of an input on its demand by
decomposing the effect into substitution and output effect. State how output decision of the
firm changes as a result of this change in input prices. (3)

(D) For a production function Q=F(K,L) = (K3 + L3) /3. Calculate the rate of technical substitution,
the output elasticities for K and L, and show that their sum is equal to zero. (4.5)

Q.4(A) T F 9T HIAFRAT (x) X Fiwele (y) T @H FA & (@ 7590 2| FAlHade
AT IRAT AT HET FHAT: 5 FAT 1 FAT g | A9 FAUH (budget constraint) FT
TS | TH d% JUFT H Afwele @l Iq IHe 5707 6l FatHg fima ow aiar 12
Al Hl TAF 5THEAT & (o0, FaT F TH Aldhole qF HAd! gl IHT dA@ H A0
I AAUY FT IATST AT & AIULA (intercept) 2 AT (axis) T¥ Haseri® &1 g
=7 ¥ R fifT




(B) =TT TR IUIRT T IUAET U (x,y)=x+3yE | Px,Pyasd X, a& Y& T
T TAET AT MAT & | A9FA  (optimum) @I a1 Aarferd siw woas Rafa =+
T e gAY |

(i) Ff=F Pc =1, Py=4, M=100
(ii) T Px = 4, Py=1, M =150
(iii) Tf= Px = 2, Py=6, M =150

(C) T (input) F F\a & Fhg & FT TAE AT FFT IRl TN T JTAeqm0= =¥
Icares RIS (output effect) F1 fa=fed (decomposing) F4 @i grar ==ror Fifsrn
ary g oaarsy & e fwar § 9 agarad F O IRUTHeEET BY AT IcqTed Ao
£ e o G

(D) TF IcqTET ®eAT Q=F(K,L) = (K3 + 13) V3 & forw asefr wfaeamas ft s5, Keiw L &
U Iaures @ Fr AT fie |, W REreutE s w S f Oy g F aeE g
Q5: (A) Let Lata’s preferences be represented by the benefit function, U(F) = (F)/> where F

represents amount of food consumed. Let there be 2 situations (sunny/hurricane). The
probability of sunny is % and the probability of hurricane is %.

(i) Find the equation of Indifference curve that pass through (Fs,Fu) = (64,64). Plot the
Indifference curve and constant expected consumption line that passes through this same
point. Is Lata risk averse, risk loving, or risk neutral? Explain.

(ii) Compute the certainity equivalent and risk premium of the risky bundle that runs through
(Fs, Fu) = (125,27), and depict graphically. Further, calculate the value of insurance if she goes
for full insurance (with fair insurance). Will the value of insurance rise or fall if she partially
insures with unfair insurance? Explain. (5+6.25)

(B) A firm has production function: Q =F(k,l) = I¥2kY* (where | and k are measures of labor and
capital input used to produce q unit of the good that are sold at fixed price p per unit of the
good. Cost of (l,k) are (w,v). Compute the following:

(i) Is the production function homogeneous? What can you infer about the returns to scale?
(ii) Compute elasticity of substitution between inputs
(iii) Compute firm’s conditional demand for labour and capital

(iv) Find out the equation of cost function in the long run (1+2+3+1.5)

Q.5 (A) 9T @qr &l FFqral &1 a9 ®A9 U(F) = (F)Y3 g Sgf F 399 foFe o
ASH AT AT &FT Fqmar gl AWT agr 2Fafdar (ga / TEE) 8 | g it GA9ET %
g oY o A G9EAT % g




(i) STTEAT a% FT AHIEHLT Farsd ST (Fs,Fu) = (64,64) § oAl gl IIEAAT Th AT
aaq st @yq YEr w7 Iqaieu S oz ¥y e @1 F a@@qr Sew § el
g, MW & 97 g, AT AMMeq & oy deer 82 9=yl

(i) (Fs, Fu) = (125,27) ¥ =< Tl SIITEH dSd & AAQeT A€ SAEH SHHIT AT ToET
F AT A@l H A ESid| 9w T, s ag 90 JEr (St S\ & AT
% oo Srft & a1 o F oger i vmr w1 Ffe gg oifds ® v 7 sfua &
FIAT & AT A9T FT FeA FgaT AT FHH R GHATT |

(B) UF WH F ScUTad ®Ad Q =F(k,l) = IV%kY4 § (ST 130T k =9 3T gt oo & A7
g Nirg a&q & qTHRE FT IAEA FA & @0 ITAN Far Smar g i afa =&
o o pw 9= & €| (L k) F AT (w, v) B et i oEr w7

(i) FIT STITET FAT THET 82 THH 9T ATAHA (return to scale) F T H T FAT ATAT
T TR 82

(i) smrat F i gfoedmoa i o= f7 oo fie |

(iii) =7 T 9=t % o wH A7 "gud 9T AT s |

(iv) ST § ATTT HedT JHE {19 AT |

Q6: (A) Given utility function U (x,y) =x?+y?, Px =2, Py=4 and M=50 for a consumer,

(i) Compute optimum consumption. Also show graphically.

(ii) Check if tangency condition holds true. Explain

(iii) Check if this function exhibits homothetic preferences. (2+1.25+1)

(B) Draw Indifference maps for the following in separate diagrams. Also indicate the direction
of higher indifference curves:

(i) U(x,y) = max {2X,Y}

(i) U(x,y) = Y-X

(iii)U(x,y) = lox x + log y. (1+1+1)
(C) Plot income offer curve and Engel curve for good 2 for the following cases:

(i) Utility of the consumer is quasi linear in good 2

(ii) Consumer is only concerned about consumption of good 2 and neutral with respect to
consumption of good 1. (2+2)

(D) Let a firm have production function: Q =F(K,L) = (L) + (K)”* (where L and K are measures of
labor and capital input used to produce q unit of the good that are sold at fixed price p per unit
of the good. Cost of (L,K) per unit are (w,v). Compute the following:



(i) Input demand functions

(ii) Profit function

(iii) State how envelop result can be applied to achieve the result derived above in part(i)
(4+2+1.5)

Q.6 (A) START & T ITTRET ®9 U (x,y) =x*+y2, Px=2, Py=4 3T M =50 ¥

(i) ITFS @I AT TUEAT AT T TT gr @ AT JArey |

(i) ST Y FoF oqei &t g @el g AT Agil aw=Ay of |

(iii) T= oF T I8 Feq ErETATEE (homothetic) TTIwaTsti &1 w=fsta wwar gl

(B) AT T @l § fAwfereg & o IImiear aMi=s a9y | 396 Jo1ET 39

IarEar awi v fem @ oft IR A
(i) U(x,y) = max {2X,Y}
(i) U(x,y) = Y-X

(iii)U(x,y) = lox x + log y.

(C)F%r A=t & U a=q2 % Usiqr @k oY T Yeard a# (income offer curve) IATEY

(i) STATHT T ITATNGT a&q2 § 7 T (quasi linear) §

(ii) STHATHT FAT AT 2 0 GG 6 X H Hidq g LAEIL & ITART & Faeg |
qeET 2|

(D) U ®H FT IcATed FAT B: Q=F(K,L)= (L)% +(K)* g (&l |8iT k =97 ¥ g
A & 717 § Rig a&q & qTHE & IOTET FId & [0 ITANT FHAT S1ar g 3%
T T RO o p I a9 Sd & (L, k)& T TEE anE (w,v) § FEfeiea di
TOET Y

(i) 3T /T AT

(ii) T FoAT

FATST 9 FUL () F ITT IROTH UTH 9 F U uAadT gRomHE  (envelop result)
Ay fFar ST oEsar g
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Q1. (@) (i)  Consider the following k-variable model:

Y = Bit P2Xoi +P3X3it e +0 Xk +u; where,i=1,2,3,.......... n
Set up appropriate X'X matrix and X'y vector. Using OLS, show that the
vector B can be determined in terms of X'X matrix and X'y vector.

(i) Consider following y vector and X matrix:

<
11
N W A U1 N
>
Il
ROR R R
U W N R~

Use matrix algebra to calculate B vector. Also obtain coefficient of
determination (R?) using matrix notation.

(b) (i) What is meant by simultaneous equation bias? What will be its consequences?
(i) The empirical demand and supply functions are respectively:
Qf = ag+a,Pr+uy;; a; <0
Qi = Bo+PiPetuy p1>0
Cov (uyr, Up) =0
Given the equilibrium condition Q2 = Q3 show that o1 is an inconsistent

estimator of . When will plim o = oy ?
(9.5+9.25)

(a) (i) Fafafad k-=R dled R fdaR HifT;
Y; = But BoXai +B3Xzit e, +B Xy +u; S8BT I= 1,23, n
IWgad X' X AR X'y Qfew &1 fFAafor sifsra| OLS & werrar @ caifst &
e B A XX AT X'y afewr & uel & 7rd fvar o g g
(i) P=fafaa sy y 3 iftem X R fqar sifsm:

<

|
o WA U1 g

>

Il
=
Ul W N R

AR ST &) TeTad I G B H1 0T Hifod |, e Toba & TeTadl ¥
e quiies (R?) +ft I1a Siferu

(b) (i) U FHHROT AT (simultaneous equation bias) &T T dcad &2 $9d 1
gfRomH giv?
(i)  SIHTHAD (empirical) AT T 3MYfT Feled FHAM: fAFT g &
Q= ag+aPr+u;,;, a;<0
Qi = Bo+PBiPituy p1>0



Q2. (a)

(b)

(a)

Cov (U, uye) =0
i I T QF = QF & o g2fsT & o1, a T Teh THIT 3Thelsh gl
plim o1 = a1 Hd BIIT?

(9.5+9.25)

Consider the following regression results

Sleep = 3840.83 — 0.163work — 11.71Edu — 8.7Age + 0.128A4ge? + 87.75D
(se) (235.11)  (0.018) (5.86) (11.21)  (0.134)  (34.33)

N =706, R? =0.123, R? = 0.117

Sleep-total weekly minutes spent sleeping

work — total weekly minutes spent working

Edu — Education measured in years

Age — Age of the individual in years

D — Gender dummy where D =1 for male, 0 for female

Q) Is there any evidence that on average men sleep for more minutes weekly than
women? How strong is the evidence? Choose 5% level of significance.

(i)  Interpret the coefficient of Age and Age?.

(iii)  Isthere a statistically significant trade-off between working and sleeping? How
would the regression model have to be modified if there is reason to believe that
this trade off might be gender specific?

(iv) Do you suspect multicollinearity in the model? Explain your answer.

Q) In the regression model Y; = B, + (1 X; + u;, suppose that u; satisfies all
CLRM assumptions including Cov (X, u) = 0. Let Z be an instrument for X,
such that Cov (Z, X) # 0 and Cov (Z, u) = 0. In such a situation, examine f,.¢
and B, in terms of unbiasedness and efficiency.

(i) Explain- ‘A good proxy variable for the omitted variable makes a poor

instrument variable.”
(9.5+9.25)

frafaf@a gaEmERer gRumaEr W AR fifee

Sleep = 3840.83 — 0.163work — 11.71Edu — 8.7Age + 0.128Age? + 87.75D
(se.) (235.11) (0.018) (5.86) (11.21)  (0.134) (34.33)

N =706, R? = 0.123, R? = 0.117
S8l Sleep-HIH T 71T Hof Areciiigep et ot G
work — TH $d §U Ty 71T o Aldlieep e Bl TS
Edu — e, auf & wifud
Age — ST B 311g, af H
D — i &1 g IR G D = 1};13@ 0 Higal 8q
() T DI BIS YA b Wﬁ?mwm&ﬁaﬁaﬁ&n&m
e Tid €2 g8 HT faHT Tered 87 5% Tdfedl Wk &1 SUURT Bifr|
(i)  AgedAge’ & uriar T sarEdr HfAT|




(iii)
(iv)

() (@
(i)

Q3. (a) (1)
(i)

T B IR 9 9 F 9 IiRFeg dR R Ife, WER fRgmyrl g5y

(statistically significant trade-off) &2 afd T8 AMA & FHRU A 8l & T8

ﬁuﬁwﬁﬂwﬁﬁw%aﬁwwmaﬁmwmﬂﬁam
?

T 3P AisT § TgERTdT BT USE 87 3T IR B TRy

THYTUHISA ¥V, = By + BoX; + w,H, A AT 7 w;, CLRM @t Fuft Arganai
I FP B 5, BFH Cov (X, u) = 0 &t afFAfea &1 A AfSw % Z, X &9
T Fifys W §, e it Cov (Z, X) # 0 a1 Cov (Z, u) = 0. U fRufa &,
Bovs T By B SAMNAAT 9 R & foIE Sifg PifoTd |

‘BIS T TR ]G U 3BT YA =R T °fean Tifie @R g1 817 36 &ueT &

HASATST|
(9.5+9.25)

A researcher studies an annual wages function and collects data from four
regions of the country- North, South, East and West. The researcher disregards
time and space dimension and presents the following results given in MODEL
1 below:

MODEL 1
Dependent Variable: wages
Time period: 1991-2010

Durbin Watson d-statistic = 0.1998

Variable Coefficient Std. error t-statistic
Constant -70.3041 30.62 -2.2960
Education 0.2201 0.0146 15.0753
(years)

Experience 0.4056 0.0592 6.8514
(years)

R?=0.7365

Specify the regression model that has been used to obtain the results given above

in Model 1.

Allowing for fixed effects the researcher re-estimates the model and

presents results as follows: MODEL 2

MODEL 2

Dependent Variable: wages
Time period: 1991-2010

Variable

Coefficient

Std. error

t-statistic




(b)

(@)

(iii)
(iv)

(i)

(i)

(i)
(iv)

Constant -364.7514 35.8652 -10.1701
North 252.6722 49.4564 5.1089
South 276.6565 23.7283 11.6593
East 161.5832 31.4071 5.1448
Education | 0.1381 0.0215 6.4232
(years)

Experience | 0.3572 0.099 3.6081
(years)

R? = 0.9405

Durbin Watson d-statistic = 2.011

Write down the regression model used to obtain estimates in Model 2 above.
Also write down the estimated regression equations for North and East
region separately.

Calculate degrees of freedom for Model 1 and Model 2.

What is an appropriate test statistic to decide which model is better? Outline
the test and conduct the test. State your result. Choose 5% level of
significance.

Consider the following infinite lag model:
Yo =a + BoXe + PrXe—1 + BoXe—z2 + -+ ug

Suppose we assume that B’s follow some systematic pattern, explain the
Koyck approach to estimate the above model. Clearly mention the special
features of this approach.

Show that for the Koyck model, mean lag= (

of decay.

If A = 0.2, calculate speed of adjustment and mean lag.

If error term u, satisfies CLRM assumptions then show that error terms of
Koyck transformation are serially correlated.

A
a-1

) 0 < 1 < 1 where A is the rate

(9.5+9.25)

TS QYHd Th aiftes T e BT 3Heqd- Hadl § ad1 39 /g o & IR &3 -
JR, <R, gd 9 ufym § 3fihg Uk Rl ¢ | I8 Ul T8y d I Tl o
JU&T HR <aT § 94T 49 MODEL 1 # fau 714 ufkomy vRqd &1 &

MODEL 1
Dependent Variable: wages
Time period: 1991-2010

Variable Coefficient Std. error t-statistic




Constant -70.3041 30.62 -2.2960
Education 0.2201 0.0146 15.0753
(years)

Experience 0.4056 0.0592 6.8514
(years)

R2=10.7365

Durbin Watson d-statistic = 0.1998

SW Model 1 & U v qROTAT & 9o R g 399097 fhw T FHTHI0r
Alsa & faf@w)

(i) RR yyEal & IR Fxd gU Myddl Ared HI TRIGId &dl & adl +a
MODEL 2 # fu 1w aRomet sedd ae &

MODEL 2

Dependent Variable: wages

Time period: 1991-2010

Variable Coefficient Std. error t-statistic
Constant -364.7514 35.8652 -10.1701
North 252.6722 49.4564 5.1089
South 276.6565 23.7283 11.6593
East 161.5832 31.4071 5.1448
Education | 0.1381 0.0215 6.4232
(years)

Experience | 0.3572 0.099 3.6081
(years)

R? = 0.9405

Durbin Watson d-statistic = 2.011

W Model 2 # T 7T gRUMAT T Yo el & 39T hU ITT FATHIOT
Alsel A fAf@T| IR d Yd &1 8 b Tad THIST0 JHIHRON DI ST ¥ off
fofau|

(i) Model 19 Model 2 §q FaTd=g HIfeAT dr AU RTI.

(iv) DU AISd S8R 8, 39! vl o 3 Iugad usteror ufdesier o 82 39 uiefur
DI T SIOTT TUT T/ HIOTT | 30+ RO & fafRau | 5% Tdddr wR &1 99+
Fifor|

(b) fIfaf@d 3eed faeFss Alsa W faar fifew:
Yi=a + BoXi + B1Xe—1 + PoXip + U




(i)

(i)
(iii)
(iv)

Q4. (a) (i)

(i)

(iii)

(b)

(i)
(i)

(i)

@ ()

(i)

(iii)

I8 HFd gU fb B apotier el gegafeud wfawd &1 37eRor axa §, IR
ST B STHRIG B 2q HITH TP 51 THEYI T VB H L Fefvi
AR GRCRINY

aRIigT 6 PITw Hisa 3 Hred faea = (2 l))o<z<1,aﬁ/1&1trﬁa%l
gfe A = 0.2, A GHRNSH Bt 77fa g ATeH faewa Pt 70T BT

e Ffe U w, CLRM &1 AT 1 Ty PRl ¢ ol TS & HIUD FURUI
& Ffe Ue WHgqIRId g |

(9.5+9.25)

Suppose that the correct model is Y; = a; + a,X; + u; but the estimated
model is Y; = BX; + v;. Show that 3 is a biased estimator for az. Also find the
condition under which £ would be unbiased [Assume that all the CLRM
assumptions are satisfied].
Now, suppose that the true model is Y; = BX; + u;. But instead of fitting this
model, by mistake you fit the regression as Y; = ay + a; X; + v;. Is@; an
unbiased estimator of 8 ? What is V (ar;) and V() ?
Consider the following specification of the wage regression model where
wages are regressed on education (edu):

log(wages) = B, + B, edu + u;
If it is believed that experience (exp) should be added to the model, explain
how you will conduct the LM test for adding variables.

Consider the following k-variable model:

Yi = Bit P2 X0 03Xt +0 X + u;, where, i=1,2,3,.......... n
Using matrix algebra write down RSS, ESS and TSS.
Using matrix notation, develop ANOVA table. Also write down the test
statistic to test overall significance of the estimated regression.
Consider the following three variable model:

Y; = —3.3384 + 1.4988X,; + 0.499X;;

If R?=0.998, TSS = 780541.34 and number of observations = 30, develop
ANOVA table. At 5% level of significance conduct F-test for overall
significance.

(9.5+9.25)

A AT 6 WE IS ¥V, = ay + auX; + u; § e Iewford Arsal
Y, = BX; + v; &1 SRUF B, 0p U S 3MThaes & | 39 Xdl B! i I1d piforg
% o9 f 3 grmi [\ Sifore fs CLRM &1 ot It gy g1t 1]
34, 7 Aol fs Wt Aisa ¥, = BX; + w8, W 39 HISd Bl ATHIed H bl
O T Y FHIYIUI FHBRUY; = o + a; X; + v; T 3hfad X &1 &
a; , B 1 TS AR 3Hbad 82 V(ay) I V(L) T §?
TG FHIAY Hisd & Mufefad faf e R foaR Sifo St weigd (wages)
&1 18T (edu) R ARG fhar mar &

log(wages) = ; + [, edu + u;



TS g AT ST § 3Hd (exp) P! 39 Alsd H SiiST ST 1Y o IS 3 3ma
W B! Se 3 LM TRI&UT ford UhR 31|

(b) FEfRed k-=R Aied R faaR SIS

Y; = Brt BoXai +P3 Xzt +By Xy + up, 8T, 1= 1,23, n
()  Bfcwy diomfoE & Jgrar ¥ RSS, ESS @ TSS & faf@w!.
(i) B dhad &1 Tgradr & ANOVA TRl & fawRid Sifore | sreferd
U] Bt THY ATl BT IRIE0 B g UI&0 Ufdeis &f off fafaa|
(iii) fafafed PR Aied R faaR sifve:

Y; = —3.3384 + 1.4988X,; + 0.499X;

Tfe R2=0.998, TSS = 780541.34 TuT U&fuil &t T=AT = 30, I
ANOVA 1ol & famRig Siforg | 5% Arddmdr TR R Jegof wrfedr gq F-adiemn
Pl

(9.5+9.25)

Q5.(a) (i) What is meant by an Error Component Model (ECM)? Explain how does
an ECM differ from Fixed Effects Least Squares Dummy Variable Model
(FEM).

(i) When is it appropriate to use ECM? Outline a test to choose between ECM
and FEM.

(iti)  Show that the composite error term in ECM has zero mean and homoscedastic
variance. Also show that the error terms of a given cross sectional unit at two
different points of time are correlated.

(iv)  What is an appropriate method to estimate ECM given the autocorrelated
structure of the composite error term?

(b) Q) Suppose that a regression model is estimated as follows:

TC = 1.6642 + 19.2 X; R?=0.49
(s.e.) (14.02) (3.066) N =180
The researcher then ran another regression:

TC = 243.7223 + 76.65X; — 0.0918TC_ + 0.00001197C"°
(se) (14.04)  (28.62)  (0.0062)  (0.000008) R?=0.843

Outline the steps to apply Ramsey’s Test to check for specification error.
Choose 1% level of significance. Write down the null hypothesis and
alternative hypothesis clearly. Why is Ramsey’s test called a test of
misspecification rather than a test of specification?
(i) Explain how the researcher can conduct the Durbin-Watson test to detect
model specification errors.
(9.5+9.25)

(a) (i) 3 gcw Hisa (ECM) T F1 d1cqy 82 #emsT & ECM 5y UeR fRRR uy1g
AdH o g @R Ared (FEM) & 37T gar &



(b)

Q6. (a)

(b)

(i)
(iii)
(iv)

(i)

(i)

ECM &I 39219l AT el IUGF 2?2 ECM d FEM & AT Ide7 Hlay gd Uh

qdeTor fr sREr AT

gxIfze fs ECM & e Ffe Ue &1 Y= ATed § TORU1-IH URRUI giaT § | I8 o gxifsy
o for it &t §5 ST 3bTS ¥ TG o < 3 fargall R e U Tgawafid Bd &
g I UG & 39 WHgHEId WRaT B RUD & ECM &1 3fiebfard &3 8q
Iugad fafy . g2

A AT 5 Tes H1eur Aisd & a3 U URond 9 TR &

TC = 1.6642 + 19.2 X; R?=0.49
(s.e.) (14.02) (3.066) N =180
TP d1¢ MYl A Th 3R FHIHIT fma;

TC = 243.7223 + 76.65X; — 0.0918TC° + 0.00001197TC"°
(se) (14.04)  (2862)  (0.0062)  (0.000008) R2=0.843

fafc=m Ffe o1 ST 3 8 I & UKIE01 & RO Bt Ol Siforg | 1%
Trferar TR BT IUART BT | YT 9 dobfedds UReed-Tail &I Wyd: fafew | Iy
& gierur oI fafcem & udternr ot SO SfafafdR &1 uRierur ot gl oI 82
ST fb RMysmdl Aisa fafdem Ffedt &1 uar @ | sfdF-aica= udtem fag
UHR TR THdT g |

(9.5+9.25)

Consider the following long-run investment function of a company:
V' = a+ BX: +u;
where, Y = desired investment or long-run investment
X =sales and t = time
Q) Explain the method to derive short-run investment function using
partial adjustment hypothesis.

Table below presents results of estimated short run investment function:

Dependent variable: Investment

No. of observations: 40

Variable Coefficient Std. error t- statistic
Constant -1342.15 412.6163 -3.2528
Sales 0.6134 0.1497 4.0975
Investment(—1) | 0.4216 0.0512 8.2344
R? =0.9266

d=1.211

(i) Find coefficient of adjustment and give its meaning.

(ili) ~ Write down the estimated short and long-run investment function.

(iv)  Calculate Durbin—h statistic to detect presence of autocorrelation and
state your conclusion. Choose 5% level of significance.

Suppose we have the structural equation Y; = B, + B1Y> + B.Z; + u; where
Z, and Y, are explanatory variables and while Z, is an exogenous variable, Y, is
an endogenous variable.

Q) Are the OLS estimates for S,, 8, and [, consistent?



(i) In such a situation, let Z, be an Instrumental Variable (IV) for Y,. State
clearly the conditions for Z, to be used as an 1V for Y,. Explain how
would you estimate S, 8; and 3, using IV technique.

(iii)  Also write down the reduced form of the equation and show how it can
be used for testing the identification condition.

(9.5+9.25)

() TP HH & Fufafea e FHaw vad )R faeR Sifve;
V' = a+ BX¢+u;
S8l Y = SeeTa Hawr a1 aifed fawr
X = faept, auT t = 95y
(i)  SHifre TS URG I SIERdl d DI Fa<l Ha- Jad H-
3! fafyl 1 THRy|

g Tt 7 siefera sreuepTeli= oW e & ufoma feu U &

Dependent variable: Investment

No. of observations: 40

Variable Coefficient Std. error t- statistic
Constant -1342.15 412.6163 -3.2528
Sales 0.6134 0.1497 4.0975
Investment(—1) 0.4216 0.0512 8.2344
R? =0.9266

d=1.211

(i)  GHTAISM IO Jd DHIToTE T SHHT 3 FasU |

(i)  SMHId eTpIel g Srdeprei Faw wa! o fafau|

(iv) eI &1 IR &1 Udr aH 8 S & h TRGRIS &1 T0FT Hiforg qut
3T ey e | 5% ArfehdT TR &1 IR S|

(b) A AT 6 TAR U TRem1dd BT ¥, = By + fiYs + BoZy + u; ©, S&T
7, d Y, ISR =R & B8 Z, TS SiSId (exogenous) =R ¥, 9l v, T
3f=faiid (endogenous) =X &

(i)  ®By, BB, B OLS 3HTdhadh JITd (consistent) &2

(i) THRRH TAARTRF 2, v, T ABFR (V) 812, T Y, 8
it o & FU H IUINT fhT 9 8 3Ma=aH dl DI W
faRau | gw=mee fo 8y g, g, @ B, @ IV Al &) Terar @ oy ysR
JThferd B

(i)  THEOT & BIC T (reduced form) Fr off TIf@T T gafse & Jga=
&1 A Pt S B /g Y UHR DT SUAIT a1 o Febal B |

(9.5+9.25)

10



SET B

Sr. No. of Question Paper:

Unique Paper Code : 12277501

Name of the Course : B. A. (H) Economics

Name of the Paper : Economics of Health and Education

Semester Y

Duration: 3 Hours Maximum Marks: 75

Any graphs/figures/diagrams in the question paper have been taken from the prescribed readings.

Attempt any four questions in all.

1.

Suppose there is a population of individuals whose number is normalized to one. Let
n € [0,1] be the fraction of individuals immunized against a particular disease. The
probability of contracting the infectious disease by a non-immunized person is given by
p(n) = 0.4(1-n)’. Assume that the vaccination provided is fully effective. Individuals are
identical in all respects and the cost of illness is assumed to be the same across all
individuals and is equal to one. The marginal cost of the vaccination is constant, given by
c=0.1. Derive the private and social marginal benefit. What is the relationship between
the two? Derive and show diagrammatically the private optimum and the social optimum.
How will these private and social optima change when the probability of contracting the
disease by an individual increases to 0.8 assuming none in the population is immunized?
In the light of the above analysis, discuss the possible reasons that make the government
pursue full immunization? (18.75)

The links between education and health are important in shaping both short-term and
long-term trends in the levels and distributions of both these variables. Elucidate by
highlighting both forward and backward linkages of health and education. In response to
your answer to the above part, discuss that improvements in health and education
outcomes may not increase just by increasing monetary resources. Improving quality of
service provision is critical for it. (18.75)

Consider a medical drug X to control the spread of malaria. The government is the sole
supplier of this drug and provides Xo = 32 amount of this drug at price Po= 20. The
demand function for this drug (X) is D(X) = 40-0.4P. To incentivize the public to
consume more of this drug, government gives a subsidy of S=70 per unit. After subsidy,
its price reduces to P;=10. Discuss the effect of this subsidy on the demand for
immunization for malaria, when the demand function is as given above. How will your



answer change if the demand for drug X is prevalence- elastic? Discuss the feedback
effect of subsidized preventive actions of the government. In the light of above analyses,
do you think that the individuals usually under-consume preventive health-care services?
Discuss. (18.75)

Suppose the hourly marginal revenue product of workers in the US labor market is
MRP; = 50 — 5L, where L = the number of workers. The hourly wage rate for Blacks
in this market is W = $15. What is the gap between MRP; and wage in this labor market if
L = 57 Is this gap a reliable measure of discrimination against Blacks in this market?
Justify your answer. In the light of the answer to the above part, discuss if human capital
a good investment. What could be the factors that can lead individuals, ceteris paribus, to
make different investment decisions regarding human capital? (18.75)

Cost-effectiveness Analysis (CEA) method explains the tradeoffs between monetary and
non-monetary effects of any health intervention. In the light of this statement, explain the
working of CEA and critically analyze the trade-off mentioned above. Discuss the
importance of sensitivity analysis in CEA with the help of an example. (18.75)

Study the diagram given below carefully and explain the changing relationships between
demographic and epidemiological transitions for both developed and developing
countries. In this context, will there be any changes in the health outcomes of a country?
Comment on the transitions that the government can possibly take to cater to those
changing health concerns, if any. Also highlight the possible changes in the policy
corresponding to the composition of the burden of the disease. (18.75)



Figure 3.1.  Population Structure Diagrams for England and Wales,
1891 and 1966
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NAME OF COURSE: BA (HONS) ECONOMICS
SCHEME/MODE OF EXAMINATION: CBCS DSE
SEMESTER: V

NAME OF THE PAPER: PUBLIC ECONOMICS
UPC/SUBJECTCODE: 12277507

MEDIUM OF INSTRUCTION: ENGLISH AND HINDI
MAX MARKS: 75

ALL QUESTIONS CARRY EQUAL MARKS. ANSWER ANY FOUR (4)
QUESTIONS.

T 99T 9 FAWT 37 gl Tl 8 IR (4) FaTel FT a9 ¢ |

Q1 a) Consider a good with the following supply, Q° =8 +2p.The demand for
the good is given by, QP = 10 where p is the price in Dollars. The government

imposes a per unit specific commodity tax of $2 on producer.

(i) What is the equilibrium price received by the producer before and after the

tax is imposed? Are they different or not?
(i) What is the price paid by the consumer?
(i) How much revenue is raised by the government?

(iv) Find the elasticity of demand and supply and explain its effect on incidence

of tax.

(3+2+2+2=9)



b) Explain the conditions for the efficiency in the provision of goods that are
non-rival in consumption but excludable and provided in the market by

consumption sharing arrangements. (9.75)

3) Arfaf@d W faar Sqfd: @ =8+2p. AT : QP =10 @l P Sle”R H HAd
¢l TR fAHATar W $2 9 giare &1 fafse g Y @ g

(i) T @ S F Ugd 3R 1 & FATAT g@rr ured far @ ddele Hod a2
€2 O 3T § AT AGI?

(il) SUHIFAT SART $ICATT T IS HIAS T §7?

(iii) THR SaRT fohdeAT IoTEd SICTAT STl g7

(iv) #ARET 3R gich 1 &l 1 gar oot iR F H gt W FHG GHT e
ey

g ) 3 gEGIT & wEue & Tl & fav odl Hr egrear wt S 3ueer &7 IR-
gfaeadr 3R N afSia § Afhd IO # 3UHNT ATSTEROT STTEAT GaRT UGl Hr
STl 8

Q2 a) What are the two primary determinants of deadweight loss? Graphically
illustrate the case of a tax that is borne partly by consumers and producers

using a compensated demand curve that keeps the old utility constant.
(4+5.75=9.75)

b) A chemical producer dumps toxic waste into a river.The waste reduces the
population of fish,reducing profits of the local fishery industry by $3,00,000 per
year.The firm would eliminate the waste at a cost of $200000 per year.The

local fishing industry consists of many small firms.



i) Apply the Coase Theorem to explain how costless bargaining will lead to a
socially efficient outcome,no matter to whom property right are assigned (either
to the chemical firm or the fishing industry)
i) “A community held together by ties of obligation and mutual interest can
manage the local pollution problems.” Discuss.
iii) Why Bargaining may not be costless?

(3+3+3=9)

3)3sde @ & ar wrafAs AU sl & §27 S X 3usieansit AR 3carga! gan
3HifAer & & dgeT AT SATaT § 38 HIATEST AR a5 S R 3T & &R
IGAT § HT 3TIRT ek QT ¥T & FTISC A

9) UF TARAfAE 3cdlge STedel FAX H AGT H F8T ol gl FA T ATl I JEIEr
HH B S ¢, TUET AET 3T & HATh H Yid a¥ § 3,00,000 T HHA H
&aT &1 I8 B 9fad a¥ 200000 SeR F oETd A 3RS gerdew @eA wT &l B
TATAT AS Thsa & 3NN # 5 DI A anfder § |
i) I AT AR F I FHS & v fF frder Agem Higaeh v @meore
T A FHAT YRUMHA &IM, HIg Beh ol g5l & Gofed H1 3fARR fhay diar
T B (AT A TEHRTAS B AT ASA Ghsa & 36T & o)
iy " gHE gf¥ca R U R & Feul CarT RS A S g oS
AT YENUT AT T Tl T Fohell §1" =T |
iii) ArATT ST SAeTT & At AGr & bl &7

Q3 a) Explain how ‘the theory of clubs’ can be applied to determine the

optimum size of local authorities. (9.75)

b) Does it matter whether the tax is levied on consumers or on producers?

Does it matter whether the tax is an ad valorem tax or a specific tax if they



are of the same magnitude at the equilibrium? Explain your answer using

diagrams. (5+4=9)

37) "SATEAT Y fF TUART WIAHRT & 3Sedd R H TR &= & v ‘Foer
& TAeid’ 8 A fRar S Fehdr &

d) FIT Ig AT IWAT ¢ b X STANFAN IR 9T ST & IT TGl 97 T
g AR W § & T Toh TsaeiRA X o1 Teh fARISe #X § I 9 Aol &
THATT GRATIT & 8?7 ARWI FHI 3TINRT Hlch HTAT 3cdl TISC HI |

Q4 a) “Smoke from a factory pollutes the local housing and poisons the river
water where the men of the local housing do fishing, it also destroys the
crops.” ldentify the nature of the externality. Explain how externalities can be a
source of non-convexity. (4+5=9)

b) What are the concerns raised by Surajit Das regarding the goods and

services tax? (9.75)

) "Uh HREA F (Fehod dlell YT TG I S JG¥d Al § 3N 7 &
Il SR ST § STET TR A F TEY ASC UHsd §, Tg HHel 1 I e
FT AT &' SEdar T gEfd @ 9| gae o F el IRScdedr @1 9d @
HeheTl Bl

9) o9 T4 Har X & IR A GIOd G @Rl 3618 I RdAry 2 §?

Q5. a) “The goods supplied by the public sector have a high-income elasticity
of demand. As economic growth raises income it leads to increase in the

public expenditure”. Do you agree with this statement? Why or why not? (9)



b) Explain with diagram the effect of increase in Income, fine rate and tax

rate on tax evasion. (9.75)

) “WESE & ganT qfd fRU AT @AW HT AT H ITa HE A9 gl dfe

LN

e fder 3MT serar 8, o wrdellee ead 7 gig gl 87| 1 9T 3§ U
q HEAd 82 FAT AT FAT FAGI?

) NG & Y F I W 3T H e, SRAET e IR R AT &I & JeId T TS
|

Q6 a) “Presence of externalities will result in the competitive equilibrium failing
to be Pareto-efficient.” Explain in context to market inefficiency. Use diagram to

support your answer. (9.75)

b) Describe the organization of multilevel Fiscal system in India. Briefly
discuss the Tax and Expenditure assignments and intergovernmental transfers

in India. (9)

37) ‘STt 1 3RPAfd 1 IRUTH GRET-HAA Hdeld H father gl 7 TSR A
HETAAT & HeH F AU 9 3ccR & FAGA H& & AT 3G & 39AqNT HY|

9) AR H SgEAT A gomely & HITS HT U Y| ARG H T 3R 9T
Td 37 TR §EAICRUT W F&aT & T Y



Name of the Course: B.A. (Hons) Economics-CBCS
CORE

Scheme/Mode of Examinations- SEMESTER
Name of the Paper: Indian Economy |
Unique Paper Code: 12271501

SEMESTER -V

ATTEMPT ANY FOUR QUESTIONS

All questions carry equal marks, 18.75 marks each.

1. Discuss the achievements and deficiencies of the policies followed during the Nehruvian
era.

JeEae g1 H ARl T ol @ Iuaferl SR il W Tl B

2. "Policies matter; ‘changes in bureaucratic attitudes' in the absence of policy changes are ephemeral.” Disc
the context of this statement by Bhagwati and Panagriya.

Hfaar wre t@d € Hfavd seadl F avE § Fiexarel F e § g 9gd 8 "eayul ¢
W 3R e & 3T HYT & MHiedid W I=i Bl

3. Explain how growth of the economy is related to change in the structure of the population? What are
potential threats to India’s growth in the future?

arzU & Srfeaw & Agfg SHIR &1 W # uRadd J Jafid »9 g2 yiow & 4Rd & fa
¥ foe durfad @aR &1 g2

4. Discuss how India's rank has changed in South Asia in terms of various social indicators between 1990
2011. What lessons can India learn from its neighbours like Bangladesh?

Tat B P 1990 3R 2011 F o9 RN JHIE dbdew! & deH H e TR/ ¥ YR &t 36
9ad TS B1 ey S TSI AN ¥ HRA T Job G b 77



. Discuss the recommendations of the Rangarajan Committee for measurement of poverty in India. How ¢
the methodology of the Rangarajan Committee differ from that of the previous Committee?

YR § TRi& & A99 & fau IRom afifa ot Roeiel w9t $) IReE gfifa @ e
9% qd @) afifa ¥ &9 fiF 82

. What are the features of health service provision in India? What are the steps required to impr
accessibility of health services in India?

:umﬁwnw@m%mwaﬂmﬁﬁwﬁw%wﬁw@mﬁﬁu@aﬁgw%
f5d TRE P! UG B MIYDI g2



Sr. No. of Question Paper:

Unique Paper Code
Name of the Course
Name of the Paper
Semester

Duration: 3 Hours

SET B

: 12277506
: B. A. (H) Economics

: International Economics

Y

Attempt any four questions in all.

All questions carry equal marks.

Maximum Marks: 75

fredl IR weat & 39T e
aft weat & 3w AR T

1. (a) The unit labour requirements of the production of cotton are 2 and 3 and for wheat is 4

and 5 for Lincolnland and Smithland, respectively. Labour in Lincolnland and Smithland
are taken to be 400 and 200 respectively. (i) If labour is the only factor of production and
the tastes and preferences of the consumers in both countries are alike and is captured by
U(C, W)=W*3C'3| find the relative equilibrium price? Discuss as to whether there is
complete specialisation at this relative price? (ii) Assume that the relative equilibrium price
of cotton to wheat in the world economy is 4/5, what amount of wheat would each of the

countries produce?
fRipeig auT fRrudc & foT U & IuTe & T SHTS 4 SIS AT HH: 2 94T 3 T
g & fog v 4 U1 5 § | Riwide aur Ryyee & 45 &1 HU=M: 400 TUT 500 foram S §

| () Tf 9 IUTE BT Had TP HIYF € dUT i1 SN & forg SUHNTET HT1 3 aUT Wig
[T & 94T U(C, W)=W4/5C1/5 GRITSHST AT ] , ATUfee Tqferd siud gra &% ? faa==
o 6 T 39 Anifere stva wR gt faflkrfieor @ 2 (i) 9 % fay srdferawr & surg
9 g & wmifére dgfa $iaa 4/5 § 9 A 20 gR1 g & fbat wren Sanfia st ?



(b) Ilustrate and explain with the help of diagrams that under the assumption of different
marginal costs, under a monopolistic competition framework there would be winners as

well as losers?

YTP B AgTdT A faa== v suren siford & fafis diwia anrtg & A=aar &
Jdifd , U UHIUBR UfaaRrdT S & Sidvid fasiar a1 3w givm 2

. (a) Indus and Sril are part of a customs union; and Bang is not part of it. The customs union
imposes an ad valorem tariff of 50% on bicycles imported from outside the customs union.
Let us assume the cost of production of bicycles in Indus, Sril and Bang are 100$, 90$ and
70$. How will the trade in bicycles change with Bang joining the customs union?

359 YT N TP B ZAa- $T IR § a1 9171 30T R 81 § | FeH g sy
g & 9T8R | AaTfad &1 715 AI3fdbd UR 50% &1 Yeaaitd & ot ¢ | 9 fs s,
sfier Tyt 9 A ATSfha BT IdTeH AR 100$,90$ YT 70$ & | ey g | qi1 Hi
Sie & H1Y ATgfhd & ouR § A gfad= gnm |

(b) The economy of Wildwest produces both cotton and wheat. It provides for an export
subsidy on cotton. Using a Standard Trade Model, assess the implications of the same on
relative prices.

fasaw o srdogawur HuTH auT I Bt ST Fdl € | I8 U W FHafa & fog ge it
T | UTHTIOT SATUR HiSH BT IUUINT Hd gU , ATAfée Fial W I & fAfgard geaifea
Fiford |

(c) For the production of one unit of cloth 1.5 units of yarn is required. The unit prices of
cloth and yarn without tariffs are 200 and 100 respectively. Following persistent pressures
on the government, the clothmakers were successful in getting a 10% tariff on the cloth
imports. What is the effective rate of protection of the cloth industry? How does the
effective rate of protection change when over the tariff on cloth, the government decides
on a tariff of 10% on yarn too?

PUST & Th IHIS & I & [T 1.5 IPHIS T B ATIAHAT & | UReP & 31 HUST
TYT AT Pt FHTS B I HHRT: 200 IUT 100 § | WPR R FAufifad amar gama & arace
, PUST IUTGH HUST 3ATATd W 10% UR[eP U H 6hd I8 & | UST SUNT & GG &
YHTIYU! a3 T § ? W&V BT YUTAId o2 9 ufkafdd i oiF HUST UR UR[eH AfU® g

IRPR I R Ut 10% T ULewd o1 fAoig Hed1 8 |



3. (a) In the 1920s, the economy of Bharat witnessed a steep increase in the relative price of
agricultural goods against cloth. Assuming that agricultural goods are produced using
labour and land; and, cloth using capital and labour; assess the income distribution
implications of the same with help of diagrams. Assume that labour is freely mobile across

sectors.

1920s H , YRA B SrfcuawyT HUST & goH1ad HiY aegsi & Arifée Siaal d TP dieon
gfS &1 yarfora farar wan | T b FiY avg, YT 9T 49 &1 ST HRd §U UG HUST, Ueit
TUT 47 BT IUGNT P34 ¢ AN Pl 8 ATP BT IUUNT & HIY JTHH & g
3 faazur fAfgard geuifea S’ | ar f5 99 I & SR w@add U A
Tfa=ia @ |

(b) The economy of Pearsonland produces two goods shirts (S) and pens (P) with factors
of production labour (L) and capital (K). S is labour-intensive in comparison to P. Explain
with algebra, as to what would be the impact of an increase in the supply of labour on the

composition of output of the economy, assuming that the relative factor and commodity

prices remain the same.

YTdie B srdfeaawT 9 (L) a7 USh(K) SWIGH & $RS & A1 g g HHIS (S) auT 99
(P) ST § 1 S ,P Ft ga-T & 97 7151 § | TIedTaT & A1 fad== 33 o srdfarawin & Seare
& TART R 948 & gff A gfcs &1 vuma w1 g, | foh arifée | auT avg diud (R
g

4. (a) In India, why do you think there is a significant agglomeration of IT firms in Bengaluru
(Bangalore)? Explain in the context of concept of industrial districts.
YR ®, 377 T4 Trad & fr FaR & T v &1 ggayul 94g & ? et forar & sruron
& HeW # fadaa o3 |
(b) Suppose the indices of intra-industry trade for two industries of a country, inorganic
chemicals and footwear, are 0.97 and 0.10 respectively. Interpret the same.
T {5 T ST & ) SYANN SrPTaf-1p THTA a7 o & e SiaR-Ie i & Jadid HH:
0.97 94T 0.10 & | SHF & fore TN FIe |



(c) Following a permanent monetary expansion, discuss as to why there is an overshooting

of the exchange rate over its long-run equilibrium value with the help of a DD-AA diagram.
RIT Hifge faaR $T SR w34 g, faawa 3 f& & DD-AA 1% & Jeraar A 9P
SrfeTel| Igaq Ted & SR A7 &1 o2 d8a 9 Rea wanr g |

. (a) Under a Bretton Woods type fixed exchange rate regime, the economy of Solovia is
currently under both internal and external balance. Some of the larger economies in the
world are under a spell of deflation. To what zone of discomfort does Solovia move to?
How can it get back to simultaneous equilibrium in internal and external balance? Discuss
with a diagram.

(b) The economy of Argentum is witnessing a sudden deterioration in the current account,
but its government in co-operation with the Central Bank tries to defend the peg of its
currency, argent to dollar (a/$) at 20 a/$. The market speculates that the peg is unsustainable
and the rate would crash to 25 a/$. Discuss the trajectory of interest rates, money supply,

forex reserves and exchange rate in its path to final devaluation with the help of a diagram.

5. (a) WreNfaAT Y ardegavyn, e g0 PR RAfawy T veafa & aga, adae
# AaR® AR aEd Sl dgaa A ¥ frg A Fo @t srdeyarae sqehifa
gk ¥ R W § AR 3mRw § FE a9 F 3w @ B T
Irfegaer Hal®F AR T Ao H U WY W F T F bl 87
TF NG F W 9T F

(b) 3STEH Irefcaaear & 1o @Y H =S PREe & o1 @ § AT WER
Yoo dF & AT FEAWT ¥ Il FaT Irefe (a) A STeR (o/) F W 20 a/s H
F T T @ F PV FI@ 8, S $ 81 TR AT domar g F g
IR ¥ 3R 77 & 25 o8 @l 3w #r Age ¥ ifaA EHEEs & wRA A
TS &, et i rqfet, RAef a7em sizw sk Rfwy T F waiveE w =t W



6. (a) The sterilised sales of foreign assets need not result in the exchange rate remaining
intact always. Explain the condition under which the exchange rate changes with the help
of a diagram?

(b) The open economy of Hamlet is in a liquidity trap. With the help of a DD-AA diagram
explain as to why a temporary increase in monetary policy would not work towards
increasing the level of its output? What steps could help the economy increase the level of

output under these circumstances?

(a) el aRTafeAT i Astelwa i & aRvmFTawT RfAAET T g TR
AT Tl ¥ IR@ H WA F I7 Uy @AW Gwd ded Raww @ A
aRader grar 82

(b) gFeIT HT Gelt Irdfegawyr oF aadr e H ¢ N-vT ING A A ¥
Fase fF Altw AifT & e gefer s9F scueeT F TR A R i R
A FH FAT AT HM0 37 IREATAAT & rdfeaaedqr & 3cued F TAT 1 ge+
# FI & FgH Aqg I FH §?
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1. Answer any FOUR questions.
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1. Suppose in the regression model: -

Y=o+ By Xy + B2 Xor + Uy,
v, Which depicts coefficient of correlation between X; and X; is zero.
(a) Would you suggest to run the following regressions:
Y= oo+ 01 Xyt + Uy
3 Yi=70+ 72 Xt + Uy P
Justify your answer.
(b) Also examine whether;
(i) &,=f, and 7, =B,
(i) a=a6,and a=7,
Support your answer with appropriate expressions and their mathematical proof.

Suppose that a researcher , using data on class size (CS) and average test scores from 50

third-grade classes, estimates the OLS regression:
_&
TestScore = 640.3 — 4.93xCS

¢

Wil

Lastﬁ/ear a classroom had 21 students, and this year it has 24 students. What is the
regre$sion’s prediction for the change in the classroom average test score?

R?=0.11, and estimate of error variance = 75.69

Further, the sample average class size across the 50 classrooms is 22.8. What is the sample
average of the test scores across the 50 classrooms?

Also find the sample standard deviation of test scores across the 50 classrooms.

Statement: “Absence of high pair-wise correlation(s) among regressors confirms absence of
multicollinearity”

Is this statement true for a linear regression model with two indeﬁendent variables? Give
detailed reasons to support your answer.

Discuss the validity of the statement when we have more than two regressors in the model?
In this case, if you think that the information provided by pair-wise correlations is
insufficient, what kind of additional information will be required to conclude about the
presence or absence of multicollinearity?
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4,

A study was performed to assess the impact of employment size (X) on the average
compensation (Y) and following regression was obtained

Y, = 3417.833 + 148.767 X; *)
(81.136)  (14.418)
p-value = (<0.001) (<0.001) R?=0.9383
The analyst suspected violation in one of the assumptions and hence fitted the model
/ X,
A 3406.639i +154.153 —- (**)
o; o, o,

(80.983) (16.959)
p-value = (<0.001) (<0.001) R?=0.9993
What violation is the analyst suspecting? Identify the specific form of this violation for
which regression (**) provides a solution. Explain any one test to detect this violation.
What are the repercussions of such a violation?

For the General Linear model YA: X3/5'+U with usual assumptions, obtain the restricted
n nx33y1 N

least square estimator of A along with its variance, under the set of linear restrictions given
L ~

b 2 1 - 5= 3

Y11 01 [272)

In an Election research, data were obtained for 72 districts of California State legislature
and included the total number of registered voters by district, their party affiliation, the
number of votes received by each candidate and the identity of the incumbent. The
following are the results of three regression runs (numbers in parenthesis are t - values)

All districts:

WSV =0.240+0.174WSTE +0.141WSRV +0.0751 ; R?= 0.535,n=72
4.82) (4.60) (7.01)

Incumbent districts:

WSV =0.329 + O(.31657)7 WSTE + 0(.646(7)? WSRV . R%=0.440,n=55

Nonincumbent districts:

WSV =0.212 + 0(.32313)4WSTE + 0(.33291))9 WSRV . R?=0515n=17

where WSV = Winners share of total votes cast, WSTE = Winners share of total advertising
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expenditures, WSRV = Proportion of registered voters that are registered to the winner’s

. 1 for incumbent district
political party and | = . -
0 for Nonincumbent district

(@) Interpret the regression coefficients for all districts. Why is the coefficient of
WSTE different in the three equations?

(b) Explain—exacthy—what—the—t-value—meansWhat do you infer from the t-value:?
Interpret R? and enunciate on why it is different for each equation2.

(c) Why does the Incumbency variable appear only in the first equation?

(d) Could this mod?be used productively to predict? What insights could a candidate
get from the model?
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Unique Paper Code : 12277503

Name of the Paper : Economic History of India (1857-1947)
Name of the Course : B. A. (Hons.) Economics CBCS-DSE
Semester : Vv

Duration : 3 hours

Maximum Marks : 75 Marks

Instructions for Candidates

1. Answer any 4 questions.
2. All questions carry equal marks.

3. Answers may be written either in English or in Hindi, but the same medium should be
used throughout the paper.

et & o &der

1. el IR gt & 3T S |

2. gy gt & 37 gHA § |

3. 9T @ 3R B 3ryar el AreIH H foEn S Hehll § Weg Gl 9Ral &t
3 TS & ATETT H el AT |

Q 1: The high value and volume of production and trade of Indian cotton cloth in the period
1600-1800, has led several historians to call it ‘the most important manufactured good in
world trade’, Do you agree with the above opinion? Give reasons to support your answer.
What impact did this trade have on India’s money supply? Elaborate.

el 1600-1800 T Al H HRAT T HUYS & 3cUleel Ud AR & 3T Hed
YT AT & &% STAgMPRT &l 'TaRd SR # Fad HecdqU AT a&q Fga &




foT 9Ra fhar &, 91 319 W I F TEAT &2 IU W F FAYT A TF
ATST| 3 SAUR T HRA HT HeT MY T 41 FeTa 312 faedR & o’

Q 2: Discuss and explain the various factors that led to the fall in participation rate of women
in the labour force during the colonial period.

afaaflRe s & ST | g # AN 1 Jefie’y e & fae & #RuT &
3T PRSI W T=T TF <IrEdT H|

Q 3: Examine the process of commercialization of agriculture during the colonial period and
discuss why the wealth created by commercialization did not improve the standards of living
of the majority of farmers and labourers.

NAfARIS Hrel & SR HW & TTARIAIOT ST FishdT T GAUETOT S TUT ==
X [ TGERIHIOT Garl 3cdeet I TR HUR o TR A T HAslgl &
Shae TR # uR F4t g1 R

Q 4: Railways have been acclaimed as an ‘engine of growth’ in most economies that were

industrializing during the nineteenth century. Do you think that it performed the same role
in Colonial India? Elaborate.

3ooiidl AATSET & GRIT YoId &l JNEARARHIOT FXt arelr IR HITTEATIiT
H U AR & ol o ®T H YA fhar 3141 § | 97 39! o6ldT & o 3t
Hafafes HRd # A HfAw g A faear @ adm]|

Q 5: Analyse the dynamics of Indian industrialisation in the first half of the 20th century,
particularly with reference to the Indian entrepreneurs. Also comment on the opinion that
the Indians were more daring than their British Counterparts?

20 df erdredy & gAY # #ARAE ftegihaor Hr afaeherdrn, @y &7 @ arda
3cATAAT & Hee A, 1 ARV Y, | 30 T W i Roqof Y &6 #RAT 39+
fsifeer gaenedt S oo # ¥ A |



Q 6: “India’s relative economic stagnation in the ‘golden age’ of the world economy before
1914, marked out, how far its own development was being sacrificed to serve Britain’s
imperial interests in other parts of Britain’s Empire.” Discuss.

1914 @ Ugol 929 3IcuaTdT & 'TIfoTH &le H AR & @ 3 sgda
IJg Rfced atar & ™ 0 R foea & THeg & 37 Rear # f§ea &
rATSIae fgal fr Aar & Qv 39 T&oF & [erw &1 aer fohar o =ar an " ==
S|
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Name of the course: B.A. (Hons) Economics (DSE)

Scheme/Mode of examination: CBCS Semester V

Name of the paper: Political Economy |

UPC/Subject Code: 12277505

Time: 3 hours Maximum Marks: 75

Instructions for Candidates

1. Answer any 4 questions.
2. All questions carry equal marks.

3. Answers may be written either in English or in Hindi, but the same medium should be used
throughout the paper.

wanfiat & faw fader

1. TFegl IR 94T & 3R SIfo|

2. g gt & 37 THE &

3. ueal & IR BT 3ryar el AryH # Ay, Weq @l ueal &1 3R U &
ATegH A g @ifd

1. Analyse how the social relations of production from being “forms of development of the
productive forces” turn into their “fetters”.

3cUlesT & ATl Y g Y "IcUicer AFadl & G & 4" O 3! ar
"SST" o ST &1 faewor Y |

2. What is meant by “negative form of power” and what is its relevance to the functioning of the
capitalist system? Explain how the successful completion of the circuit of capital (M-C-M")
ensures the organisation and disciplining of social activities.

“AfFT & APRIcHS T F AT ACIY § TUT YlaEl SaedT & foharreld & faw
SHT AT GIETARar §? Yol dfdhe (M-C-M') &l Hbel FATA o YR HIHATSIS
TATATEET & HaToeT Ud 3] i FlATRYA Il §? AT Y

3. Why did Schumpeter characterise competition under capitalism as the ‘perennial gale of creative
destruction’? Explain. Discuss his critique of the neoclassical approach in this context
particularly elaborating on his views on “perfect competition” and its efficiency claims.



FHIER & JollaTg & 3 Gfaeaet F ThAcAS AT - Fadifes S &
ﬁw’rﬁrﬁﬁm%?m FL| ZH T H 3AH Ag-Follidehd giochloT &
g W fOEdR @ =el &l AR "ol 9idfadr ua 38 gt & gt & aR #
3o7h faORT & AT T & FA0 |

4. What did Michel Kalecki mean by “political opposition” to full employment by big industrial
and financial capitalists? Elaborate on various reasons for such opposition. Why was such
opposition absent in the fascist regime in Germany?
fAder Fafs @1 93 i@ aur iy Ghufaat garr qof e & "o
farer mwm&wﬂ@ﬁﬂaé:ﬁ@mwﬁwﬁwﬁﬁl BIEETET STHAT
H e {0y w4 a8 an

5. “Capital calls the tune by which the state normally dances but takes for granted that the state will
provide the theatre within which the performance takes place.” (Robert Heilbroner). Discuss the
quote.

"qﬁm%aﬁﬁ%ﬁﬂwwmmﬁmq A &, e Tg A
& T Uod AT e BT Tor ek vede gelr 1" CER 6c4§l\lo-|<)| TaT |

6. Write a detailed note on any one of the following:
a) The role of “primitive accumulation” and “accumulation by dispossession” in the
evolutionary and contemporary phases of capitalism.
b) Underconsumption Crisis
c) The consequences of globalization for the Third World.
d) Paul Baran’s classical conditions of growth in the competitive and monopoly phase of
capitalism.

fAefaf@d & @ fhdl v T T faEga ool for:

a) Yailare & fepraardl vd Al TRl # "Aifelss TOg" dUT "de@ell gan
T A

b) 37TCY-3UHNT Hehe

c) e gfaam 9 dedieRtor & aRomA|

d) Yolarg & Gieqdl Td TR XUl # Ui dReT SRl Jefer i Foridenel
eafaar




Unique Paper Code : 62271101 O C OBE

Name of the Paper : Principles of Microeconomics-I
Name of the Course : B A (Prog.) Core

Scheme/ Mode of Examination: CBCS Semester - |

Duration ; 3.00 hours

Maximum Marks : 75 Marks

INSTRUCTIONS FOR CANDIDATES:

1. Answer any FOUR questions.

2. ALL questions carry equal marks.

3. Answer may be written in English or Hindi but the same medium should be followed
throughout the paper.

BTl & forg Ay

1. forgt IR sl 1 IR T |

2. 9t Ui & 3ics IHAF § |

3. 39 U% U7 BT IR et a1 fo=<t fondt wap Hrwn & iforg, et gt SRt o1 H1emw U € g =iy |




1. (a) Using Production Possibility Curve explain the concept of opportunity cost.
Discuss how it relates to the problem of choice between alternatives?
(b) Economic problems arise due to scarcity of resources and unlimited wants. Elaborate.
(10,8.75)
(a) ITGH FHTSHT b GRT SGER SN bl GHIASY | TE fobd TG ebfetiep T0 H HaG brell § ? Iy |
(b) e TRy TneAl &1 HH vd SRAfAd Sws1ef ) aole 9 § . IHS= |

2. (a) Analyse the movement along the demand curve and shift in the demand curve
(b) Describe effective price ceiling and price floor.
(©) Usmg suitable diagrams, explain consumer surplus and producer surplus.  (6,6,6.75)

(a) AT 956 TR I Td AT I § Feudb1a &) qagnsy |
(b) B Bt YUTaqYl SifiIHa T FeRor 3R =geas Trar Ry &1 aufq Sif |
() THfd fors &t Tgrar & Juriad! Sk Ud SATGH Hfckds BT JUH HIfoTT |

3. (a) What is price elasticity of demand? What are the determinants of price elasticity of
demand?
(b) Using average method, calculate price elasticity of demand for the following data and
comment on the nature of the commodity.

quantity of good X Price of good X
200 4
280 2 (10,8.75)

(a) AT &1 ST A FT 82 AN BT HHd A & HuRe d 71 82
(b) 3f7d I &1 IuAhT vl gu Tl sidwsl & SUR TR &1 H1Hd Ald J1d Biford SR g BT THfd W

I X D1 GET I X BT HiHd
200 4
280 2

4. (a) Explain consumers equilibrium with the help of Indifference curve analysis.
(b) In case of increase in the income of the consumer, explain the change in the
consumers equilibrium in the following cases when (i) good x is normal, and (ii)
good x is inferior. Explain with the help of diagrams. (8.75,10)
(a) SR T GRT IUHIET g &I gHsy |
(b) WWWﬁmﬁq@sﬁ%aﬁMntﬁwwﬁwﬁaﬁm)wwm wd (i) afear g F
T & fort gRT 9=y |

5. (a) What are Isoquants? Illustrate and explain the different types of returns to scale with
the help of isoquants.

(b) Explain the derivation of long run average cost curve. (10,8.75)
(a) TH 3T 996 1 g7 Fordl g1 i TRE & M & 0w &1 99 IdTG ah gRT JHe=Y |
(b) Y HTA ST AT I & U] Bt SRE B |

6. (a) What are the characteristics of perfect competition ? How does competition ensures
only normal profits for a firm in the long run? Explain using suitable diagram.

(b) Differentiate between breakeven point and shutdown point. (10,8.75)
(a) gof wfafirar @t oot fa=ivard € 2 i o1 o ues W o forg ufeafiar had I v v giRfdd Bt 82
JUYH ARG BT SUTNT HRh THA |

(b) SMTE s B o1 foig Ud I faade &1 foig o ik Fdzy |
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1. (a) Explain the concept of Production Possibility Curve ( PPC) . How does PPC help in
explaining the concept of scarcity, choice and opportunity cost ?
(b) Find equilibrium market price and equilibrium quantity for the following demand and
supply function:-
Demand function P =200-3Q
Supply function Q=2P-8 (10,8.75)
(a) SHTG HUTGT dh B SAYRTT HT JUM HIOTT | GAHT, T IR AR ANTA BT STYROMSA BT o A o
JAG YT aeh [l JHR Hag Hdl § ?
(b) =<t T T AT et Tar el et o fTe ITeiR e S 1Ad T STefR 1 HET 1 i :
AN BAT: P =200-3Q
gdped: Q=2P-8

2. (a) What do you understand by price controls?. Explain the consequences of effective
(i) price ceiling, and (ii) price floor.

(b) Describe consumer surplus and producer surplus. How are the consumer surplus and
producer surplus affected by decrease in equilibrium price due to shift in supply curve?
Explain using appropriate diagrams. (10,8.75)

(a) DI 01 & IR T IaATST | S S gHEYu! () ifiresan I Rufor 3R (i) =gmaw dm fRafko &

ORI %7 quiF BT |
(b) ST TR T IAIGH MR 1 quH Hifo | gf I H RITPH1a & HRUT I HiEd & HH g1 IR
JUIET iR Td I SHfekd [ UHR UuIfad giam 82 Tgfd fora &1 weraar & 9arsy |

3. (a) Discuss the concept of elasticity of demand. What is the relationship between elasticity
of demand and total revenue?

(b) The demand of a commaodity X decreases from 15 units to 10 units due to an increase
in price of another commaodity Y from Rs. 30 to Rs. 50. Calculate elasticity of demand
using average method. Comment on the relationship between the two commodities.

10,8.75

(a) T P O BT ATYRON FAZY | AT &1 A 3R ol o T o1 Tl g 2 ( :

(b) P ag Y B 1A 30 T 50 IUT B S IR GHL TG X b1 T 15 5HTE § U B 10 IHTS 81 el

3t fafdy 1 ITAIT =l §UHIT &1 Al 1 PIOTY| 37 &1 IXGSH & g T~ &1 TSy |

4. (a) Explain law of diminishing marginal utility and law of equi marginal utility.
(b) Using indifference curve analysis, explain consumer equilibrium. Describe the effect on
demand of an inferior good when the income of the consumer increases. (8.75,10)
(a) BTEHM AT IUTAAT o7 Fo iR 9 Wi Iufirar & g &1 g S |
(b) TCRITT Ieh fARANUN BT IUTNT B §U STHIGT T BT quiH HIfor| IS BT 3 7 gfg 89 W Th
gfeqr axg &1 AT W TS aTdl YT &1 quid Hiford |

5. (a) What do you understand by economies and diseconomies of scale? Explain using

isoquants.
(b) Describe total product, average product and marginal product of a factor of production.
What is the relationship between them? Use suitable diagrams. (8.75,10)

(a) M @) frdoafRarstt ud siffrqeafiarst ¥ S o1 YHd § ? YT ashl &l SUTIT Hd gU auid i
(b) IAE & TP WL B! o IS, A I 3R JHId IS BT ARAw0r HIT (37 o9 o Tvaww 82
TYfrd ol &1 wanT Sifo |

6. (a) Explain all equilibrium conditions of a firm under perfect competition in the short
run.
(b) Describe the equilibrium condition of a decreasing cost industry under perfect
competition. (10,8.75)
(a) 3fed HT1d H guf ufaaifiar & siaifd te wH & it e fufaat &1 aufa sifom)



(b) guf BT & SiaPid U Ted aTd STRT &1 Sga RUfd &1 JuH HY |
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1. (a) Describe production possibility curve. Describe the effect of economic growth on this

curve.

(b) What is price mechanism? What is the effect on equilibrium price due to an

improvement in the technology to produce the commodity? Use suitable diagrams.
(10,8.75)

(a) TG FRTGHT Toh BT qUI BITOTT | 39 ah TR T H gl & THTAl BT FATSU |
(b) P < T BT & ? TP axg P ST dp-1b! & YUR BT Iqa Yed W T YHIT TSl § ? Jgfrd fom )
e § sy |

2. (a) Drawing proper diagram, find the equilibrium price and quantity of a commodity for
the given demand and supply functions :
D =140-3P
S =5P - 20.
(b) Describe consumer surplus at an equilibrium price. Explain the effect on consumer
surplus when there is (i) rightward shift in the demand curve and (ii) leftward shift in

the supply curve. Use suitable diagrams. (8.75,10)
(a) TYfad ol 91T §T, Uab ag & 1T 71U AT Td Gfdd B o YR IR e G U4 Aqa- A1 J1d. HIfd:
D =140 -3P
S=5P-20

(b) T T TR UL Bt To9d BT I DI | IUHIGTT &1 g9 TR TS ardl FHIG! &7 qui Siford o
(.)rrrgawﬁa%:ﬁaw@ﬂmsﬁm%qa(..)@Wﬁ@ﬁwwm%m@ﬁﬁa DI FgdT
sy |

3. (a) Distinguish between elasticity of demand and elasticity of supply. What are the
determinants of price elasticity of demand?
(b) The demand of a commaodity X decreases from 130 units to 90 units due to decrease
in price of the commodity from Rs. 30 to Rs. 25. Calculate price elasticity of demand

using average method. Comment on the nature of the commodity. (10,8.75)
(a) T B! A 3R Yfef &) i & ol SR WY ISR | AT B B9 dd & RuRe aa @ g?
(b) T X B HIAT 30 T TS FHR 25 B O P HRUI ITB! AR 130 I ¥ HR 90 1 e 8] M fafdy o7 Iuznr
PR AN P S dld I Do | IXG DI Yopld W fCwoht S|

4. (a) Describe the derivation of price consumption curve (PCC) and income consumption
curve (ICC) using indifference curve techniques for a normal commodity.
(o) Decompose the price effect into income effect and substitution effect for a normal

commodity x when its price decreases. Use suitable diagram. (8.75,10)
(a)ﬁmwmﬂaw@&mwmﬂaa%ﬁwwmavﬁwwaﬁ%ﬂ?ﬁﬁ SHRAM I &1 Tl
P |
(b) TH M IXG X D1 DT & HH g IR HIAT THTT DI T THTT AT TR THTd H fuUeH Hifo |
T o BT URT BT |

5. (a) Distinguish between returns to a factor and returns to scale.
(b) Using relevant diagrams in each case, explain the relationship between the followings:
(i) Total Cost (TC) and Average Cost (AC)
(if) Marginal cost (MC) and Total Variable Cost (TVC)
(iii) Total Fixed Cost (TFC) and Average Fixed Cost (AFC). (8.75,10)
(a) TP T1Y & UfAhd Ud THM & Ui B 3R 913y
(b) Tgfd fort 1 i v gU e o st Wit 1 o S
(i) P AT TS 3G NI
(if) HTHd AT Td Pot URad-=ie anTd
(iii) T fRR ANTd Ud 3 fRR arm

6. (a) Allocative efficiency is found in perfect competition. Elaborate.



(b) Using suitable diagram, describe the equilibrium condition of a constant cost industry
under perfect competition. (8.75,10)

(a) 3de care quf ufaaifirar & ot o 81 fdR & srardd

(b) THfd fort &1 U vl gU gul Uik & sfarid Ueh fRRR AT SN &t e fRUf &1 9o &8
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Duration : 3 hours
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Instructions for Candidates

1.
2.
3.

Attempt any 4 questions out of 6 questions.

All questions carry equal marks.

Answers may be written either in English or in Hindi; but the same medium should
be used throughout the paper.

Explain the difference between direct tax and indirect tax.

Describe different tax authorities in India.

What was the need for VAT?

Explain the concept of Service Tax.

Mention any 6 services on which no service tax was levied.

How service tax was computed. Explain with the help of an example.
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This question paper contains printed pages.
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Sr. No. Of Question Paper :
Unique Paper Code : 62411119/0LD B
Name of the Paper : Income Tax Law
Name of the Course : B.A. (Programme) CBCS
Semester : Semester
Duration : 3 hours
Maximum Marks : 75 Marks

(Write your Roll No. on the top immediately
on receipt of this question paper.)

Note: Answers may be written either in English or in Hindi; but the same medium should

under

be used throughout the paper. All answers must be based on the provisions given
Income-tax Act.

Attempt any four questions out of total six questions.
Each question is of equal marks

1. Explain the meaning of Income including special treatment for income from
Agriculture and income from Lotteries.

2. How you will determine the residential status of an Individual mainly living in
India but having home in Dubai also.

3. Mr.Vikram (32 years) is a lecturer in private college in Delhi. He submits the
following particulars of income and payments for the assessment year 2020-21:

Basic salary — Rs. 22,500 per month;
Dearness allowance — Rs. 9,000 per month;
Wardenship allowance — Rs. 1,600 per month;
Examinership remuneration — Rs. 19,000;

Reimbursement by the Delhi University of cost of books purchased by X for
preparing lectures: Rs. 14,250;

Income from house property: Rs. 16,000 per month (expenses being house tax: Rs.
13,000; during 2019-20, he has received a sum of Rs. 32,000 being advance rent of
April and May 2020; municipal valuation: Rs. 1,60,000; fair rent: Rs. 1,64,000;
unrealized rent: nil; house remained vacant for 1 month).

Determine the Total income of Mr.Vikram for the assessment year 2020-21.

4. Mrs.X furnishes the following particulars of his income relevant to the assessment
year 2020-21:
Profit and Loss Account for the year ending 31* March, 2020
Rs. Rs.



Salary to staff 2,31,000 Gross profit 10,86,000

Advertisement 8,000 Rent of house property 2.40,000
Repairs to house property 20,000 Dividend from a foreign 12,500
Municipal tax of house 30,000 company
property
Fire insurance: Profit on sale of import 63,800
-House property 16,000 license
-Office and godown 20,000
Office expenses 4,500
Life insurance premium on 3,000
own life policy
Depreciation
-House property 60,000
-Business assets 13,400
Wealth tax 6,000
Patent rights for business 35,000
Income-tax penalty 1,000
Interest on capital borrowed:
-for business 3,800
-for reconstruction of 50,000
property
-for investment in shares 2,000
Bad Debts 1,00,000
Net profit 7,98,600
14,02,300 14,02,300

X owns a house property utilized by him for his business purposes. Determine the
taxable income of X for the assessment year 2020-21.

Determine the taxable income of Mrs.X for the assessment year 2020-21

S Mr. Z (age: 24 years, resident) has occupied two houses for his residential
purposes, particulars of which are as follows:
House I (Rs.) House II (Rs.)

Municipal Valuation (MV) 60,000 30,000
Fair rent (FR) 85,000 32,000
Standard rent under Rent Control Act (SR) 65,000 36,000
Municipal taxes paid 10 per cent 10 per cent
Fire insurance 600 360
Interest on capital borrowed for construction of 1,40,000 1,70,000

houses (loan was taken in 2015-16 and construction

was completed within one year)
Income of X from business is Rs. 9,30,000. Determine the taxable income for the assessment
year 2020-21.

6. Explain broadly the provisions for computation of Depreciation as per Income
Tax Law.
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Instructions for Candidates

1.  Answer any 4 questions.
2. All questions carry equal marks.

3. Answers may be written either in English or in Hindi, but the same medium should be
used throughout the paper.

et & o &der

1. Tl IR URaAT & 3T oY |

2. T3 uAl & 3 AW ¢ |

3. 9eT @l 3T Y 3ryar el AreyH & @ S Hevell & e T gt ar
I U &1 ATEIH H glaAT AIf3T |

Q.1. Following Balance of Payment Data is given for Indian Economy (in Billion INR)

(A) Current Account

Export = (-)710.2
Import = (-)424.6
Services (Net) =(-) 60.1
Transfers (Net) =(— )40.1
Factor Income = (-)20.1

(B) Capital Account

External Assistant (net)=( -) 8.2
ECBs (net) =(-)125



Short-term Debt = (-)3.5
Foreign Investment (net)=( - )21.2

Other Flows (net) = (-)4.2
Error and Omission = (-)2.2
Find Out
i.  Trade Balance iii) Net invisible
ii.  Overall balance 1v) Define Current account deficit

AT HIeTTE AT & AT ST HJolel s AFAfaf@a § (Rferaer INR #)
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AT - 424.6
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FRE AT = -20.1

(B) Yol Trar

IET AT (YEH) - 8.2

SEY aifofsds IURQEY) - 12.5

3eqshifaldh T - 3.5
fae=lr faaer (yew) - 21.2
3 FaTE (Y = - 4.2
e AR yaer = - 2.2
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ii. el Ay
iii. Y e

iv) ITe] @I =rer & aRefa &t

Q2. What is Balance of Trade? Explain the recent composition and direction of foreign trade
in India?

SR HJelel FIT §? ¥R # fagel carar 7 grel &1 &Xwem va fgom & IR &
ddTe?

Q3. Discuss 14" Finance Commission recommendation.

14 & a7 3maver H Awied w == #

Q4. What is external debt? Explain the composition of India’s external debt.

STEY HOT AT §2 HRA & €T ROT & TIAT & IR H 0|

Q5. Explain the major roadmap and priorities of Indian Union Budegt in recent years.

gTeT o a1 # R sl T yAE et vd arafAsnanit $r sarear |

Q6. Discuss Major action programs of Indian Government for Sustainable Development and
Climate Change.
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Sr. No. of Question Paper:

Unique Paper Code: 12277504

Name of the Paper: Topics in Microeconomics - I
Name of the Course: CBCS DSE

Semester: V

Maximum Marks: 75

Instructions for Candidates

There are six questions in all. Answer any four questions. All questions carry equal marks.



1. Consider the two stage game in which firm 1 chooses output Q, first. Firm 2 observes it and
then decides to enter, incurring a cost E, or stay away. Firm 2’s output is given by 0, if it enters.
The firms’ preferences are represented by the following profit functions.

m=0(1-0-0)
7, = Qy)(1 = Q) — Q,) — E, if firm 2 enters.
If firm 2 stays out it’s profit is zero.

(a) Find the values of E which will deter the entry of firm 2 if Firm 1 chooses the monopoly level
of output.

(b) Find the value of E which would make Firm 1 indifferent between choosing entry deterring
output level and accommodating entry.

2. There are three bidders named Bidder 1, Bidder 2 and Bidder 3 with valuations equal to 30, 20
and 10 respectively in a second - price sealed-bid auction for a single object. Assume that valuations
of bidders are common knowledge. Bids can be any non-negative real numbers and each bidder
submits a sealed bid without knowing the bids submitted by the other players. The bidder who
submits a bid higher than the bids submitted by the other two bidders gets the object at a price equal
to the highest bid submitted by the other bidders and gets a payoff equal to her/his valuation minus
the price paid. The unsuccessful bidders don’t pay anything and each one of them gets a payoff of
zero. Assume that if more than one player submits the highest bid , the player with the highest
valuation amongst those who submitted the highest bids gets the object. Give necessary and
sufficient conditions for an action profile to be a Nash equilibrium of this game. Is there any Nash
equilibrium in which no player uses a weakly dominated action?

3. Consider the following version of Hotelling’s model of electoral competition. There are three
potential political candidates. Each one of them has to simultaneously decide whether or not to enter
a political contest. If a candidate decides to contest, she/he also has to simultaneously choose a
policy position, which is modeled as choosing a number in some interval [a, b] , without knowing
what the other candidates have decided. There is a continuum of voters, each of whom has a
favorite position; the distribution of favorite positions is given by cumulative probability
distribution function F . Interpret F'(x) as the proportion of voters whose favorite policy position is
less than or equal to x . Assume that F' is strictly increasing and continuous. A candidate attracts the
votes of citizens whose favorite positions are closer to her/his position than to the position of any
other candidate. If two or more candidates take the same position, they equally split the votes that
the position attracts. Each potential candidate prefers to be the sole winning candidate than to tie for
first place with others, prefers to tie for first place than to stay out of the electoral race, and prefers
to stay out of the race the to enter and lose. Formulate this situation as a strategic game and show
that there is no Nash equilibrium in pure strategies when there are three potential candidates and F
is continuous.

4. (a) Consider the Cournot oligopoly model where there are n firms that choose outputs
simultaneously. The inverse demand function is given below:

P(Q)=5-0 if Q<5
=0 if 0>5



where Q is the firms’ total output. The cost function of each firm i is Ci(g;) = 2q; for all
q(i=12.... n), and is common knowledge. Assume that each firm maximizes its profit. Solve for
the pure strategy Nash equilibrium. (Consider only the case where all firms are producing a positive
amount of output in the equilibrium.)

(b) The members of a hierarchical group of hungry lions face a piece of prey. If lion 1 does not eat
the prey, the prey escapes and the game ends. If it eats the prey, it becomes fat and slow and lion 2
can eat it. If lion 2 does not eat lion 1, the game ends. If it eats lion 1, then it may be eaten by lion 3,
and so on. Each lion prefers to eat than to be hungry but prefers to be hungry than to be eaten. Find
the subgame perfect equilibrium/equilibria of the extensive game that models this situation for any
number 7 of lions.

5. (a) Consider an industry with n firms. The n firms individually could lobby for a subsidy which
will be equally divided between them. Firm i’s cost of lobbying for /; hours is cohl-2 where @ is a
positive constant. For effort level (h, h,, .. ... h,) of n firms the value of subsidy to the industry
will be

a Z h; + p(hyhyhs .. ... h,,) for positive constants a and §.

Firms decide simultaneously and independently.

(1) Show that the necessary and sufficient condition for each firm to have a strictly dominant action
isp=0.
(i1) Find the Nash equilibrium for n = 2. (Make necessary assumptions about the parameters.)

(b) Two people use the following procedure to split Rs. 1000 : Person 1 first proposes an amount
x(0 < x £1000) which he would like to keep for himself. If person 2 accepts, person 1 gets to
keep Rs. x and person 2 receives Rs. 1000 - x. If person 2 rejects the allocation then person 2 gets 0
but player 1 gets what he proposed ( Rs. x). Find the subgame perfect equilibrium/equilibria of this
game.

6. (a) Consider the following agenda setting game. The set of possible policies is an interval
X =[0,5]. An agenda setter (player 1) proposes an alternative x € X against the status quo g = 4.
After player 1 proposes x, the legislator (player 2) observes the proposal and selects between the
proposal x and the status quo g. Player 1’°s most preferred policy is 1 and for any final policy y € X
his payoff is given by

vi(»)=10—|y - 1].
Player 2’s most preferred policy is 3, and for any final policy y € X his payoff is given by
v(y) =10—y -3]J.

(1) Model this as an extensive game with perfect information and draw the game tree.
(i1) Find the subgame perfect equilibrium/equilibria.



(b) Consider the following n - player game. Simultaneously and independently the players each
select either X, Y or Z. The payoffs are given as follows. Each player who selects X obtains a payoff
equal to y where y is the number of players who select Z. Each player who selects Y obtains a payoff
of 2a, where a is the number of players who select X. Each player who selects Z obtains a payoff of
3/, where f is the number of players who select Y. And a + f + y = n.

(1) Suppose n = 2. Give the payoff matrix and check if the game has a pure strategy Nash
equilibrium/equilibria. If so describe the equilibria.

(i1) Suppose n = 11. Does the game any pure strategy Nash equilibrium/equilibria? If so how many
are there? Describe those?



Name of course : B.A. (Prog.) DSE

Scheme/Mode of Examinations :- CBCS Semester -V
Name of the Paper: Environmental Economics
UPC/Subject Code: 62277501

ATTEMPT ANY FOUR QUESTIONS.

1. Define public goods and their two important characteristics with the help of relevant
examples.(18. 75 marks)

2. Distinguish between ‘Stated preference method’ and ‘Revealed preference method’ of
environmental valuation. Discuss any one of the two methods with an example.(18.75 marks)

3. Define Pigovian fee. “pollution permits are better than pollution taxes”. Do you agree of disagree?
Give reasons.(18.75 marks)

4. How are conventional goods different from environmental goods and how the demand for
environmental goods can be measured . Explain with the help of suitable diagram. (18.75 marks)

5. Is pollution tax better than pollution subsidy? Explain. (18.75 marks)

6. Does initial assignment of property rights matter for efficiency? Explain coarse theorem in above
context with suitable example. (18.75 marks)
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Q1. “With regards to economic development, there is much more that India can
learn from the diverse experiences of different states within the country, as it

can learn from other countries.” Discuss.

T 1. "3 fahrE & Heer H, #Rd, S e G2 o el & WG Hevell
& 39U FE AT TF IO & ¢u & fafdew weat & fafdy st
O @ gohar gl IaT |

Q2. Explain the main characteristics of developing world. Is there diversity within

commonality?

v 2. faehrerelier Teet & HEg faAvard Syl 41 FAGTAT # o fafaerar
g2




Q3. Examine the dual relationship between population growth and economic

development.

¥ 3. SoEedr defe 3R e faehre & o aley HeEr H S Y|

Q4. Critically examine the success of planning in India in the light of its objectives.

9 4. ARG H AolAT Nfd & 38T & Get A AataAr gferar & heldr
&I e HST |

Q5. What do you understand by deficit financing? Discuss its effects and

necessity.

g 5. g Fr fod cgaedr § 319 FAT GASIA £7 39 JHTEr 3R 3aTdehdr
R T |

Q 6.  Write short notes on any two of the following:

a.

b.

C.

d

Human Development Index

Relationship  between occupational structure and
development

Major recommendations of the 14" Finance Commission

Public expenditure in India

g 6. feafaf@d # & fadr g W a@fgeq feogof ford:

%. A9 fdra Fahin
. Iaarde T 3R 3 g & S g9y
. 149 fa 3maer dr ggE AoriRer

. ARd H gidolialeh I

economic
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Instructions for Candidates

1. This paper consists of 6 questions. Answer any 4 questions
2. All questions carry equal marks
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Q1. What lessons can be learnt from the diversity experiences within India? Illustrate your
answer with examples from the Indian states.
9 1. #Rd & fAfaear & segeral @ Far o M S vl 8?7 AT T &
3CTEUN & HTY 3(9ed I I fdaor |
Q2. '"Development must be conceived as a multi-dimensional process". In light of this

statement, analyse the concept of economic development and distinguish it from

economic growth. Explain the factors affecting economic development.



g 2. “faehrd T SE3MATE UfhAT & T H AT S ART| T FUA F Hed A,

Q3.

9 3.

Q4.

9 4.

Q5.

Q.6.

o o @

&

3Mieieh Taehre shr TUROT &1 faRANoT &Y 3R 58 3T Jeftr & e |
e Aerrg o gafaa e arer R HI carear Hifau|

Discuss the nature and extent of unemployment problem in India. What policies have

been pursued by the Indian government to solve these problems?

HRA H SUSTINT T FHEAT AT Gehfcl 3N STTTehdr T =T | g7 FAEATIN
& AU & oIt HIRd WWHR o FAT Afaar JI5 52

How are savings channelized as investment? Examine the trends in savings and

investment in Indian economy.

TId F AT F FH IeoT AT 82 ARGT Fqeugedr § g3ad 3R Aaer &
ST T ST A

Highlight the Terms of Reference and major recommendations of the Fourteenth

Finance Commission of India.

HRA & dlegd fad 3T & faurd fawat ik voge e o gerer
SIEIY

Write short notes on any two of the following:

Urbanisation
Deficit financing
Amartya Sen's capability approach

Fiscal policy in India

g 6. fafaf@d & ¥ el af W dfgica feoauoflt forg:
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